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Question Number : 1 Question Id : 8135612721 Display Question Number : Yes Is Question
Mandatory : No

Organisms which are eukaryotic, non-cellulosic cell wall, heterotrophic belongs to

ePBols. :awﬁé‘é Gordd Srasdtdo (L, DR LYo & U"w?gné Bo0?

Options :
Monera
1. % MbU"

Protista

Mycota

0, %bag’w

Plantae
msbw

4, %

Question Number : 2 Question Id : 8135612722 Display Question Number : Yes Is Question
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Match the following fungi scientific names with their alternate names?

Column-I Columu-II
(a) Ustilago (1) Bracket
(b) Puccinia (1) Puff ball
(c) Polyepores (1) Mushroom
(d) Lycoperdon (1v) Smut
(v) Rust

&S 28 D) ?bog‘v ?%053 TV, T ais), Frdn Tarod 20 dobod?

3600 - 1 S0 11
(a) obomerfi 1) ess
(b) H3ydasr () DDerd
) 06D (ili) Do
(d) g8DTS (iv) sews

(V) S)08

Options:
1&,,(a—iv),(b—v),(c—i),(d—ii)

5 % (a—v),(b—i),(c—ii), (d—iii)
3 % (a—i),(b—ii),(c—iii),(d—iv)

4 % (a—wv),(b=iyv),(c—iii),(d—1ii)

Question Number : 3 Question Id : 8135612723 Display Question Number : Yes Is Question
Mandatory : No
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Green algae store food in the formof A m specialized structures called B locatedin  C .

Fill n the blank with respect to A. B. C and choose the correct option?

B0 P A drdoed” eiford) ug B HAsd Aoy ety B wotrdd. e God
8% C . AB,C 06 208 2armTod) dodol)

Options:
A — starch. B — pyrenoids. C — chloroplasts

sl A — 6. B - pdTronden. C — 5788 Seaden

A — flat. B — ribosomes, C — pyrenoids
A - EQen. B - ge5°E oew. € — pbranéen

A — protem. B — chlorophyll. C — pyrenoids
A — A0S e, B — D@Ir8¢e. C — DBTrana e

A — carbohydrate. B — plastids. C — pyrenoids

4 B Dot DETen. B — Frc. € — pdoranden

Question Number : 4 Question Id : 8135612724 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Petro plants yield Bio-diesel

Reason (R): Jatropa 1s rich m hydrocarbons
D yBo (A): DE° DE) L0 LOVTERSRO FEIN
S0 (R): 28" 20€)6° TPES D0 L) I o

Options:

A 1s comrect but R 1s wrong
| x A RPN 5% R 0B
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Both A and R are correct and R 1s the correct explanation for A
, » A 2000iL R &0 Boctr V0D B0 R 938 A S DTS D966

A is wrong but R is corract

3 % A 2857 57 R 2T

Both A and R are correct and R 1s not the correct explanation for A
, w A 200603 R e oty VOV 5°R R 0938 A S 2B DI 5760

Question Number : 5 Question Id : 8135612725 Display Question Number : Yes Is Question
Mandatory : No

Which statements regarding heterospory are correct

(1) The megaspores and microspores germinate and give rise to female and male gametophyte respectively
(11) The female gametophytes in these plants are retained on the parent sporophytes for variable periods
(1t1) The development of the zygotes into young embryos takes place within the female gametophytes

(iv) This event 1s a precursor to the seed habit considered as an important step 1 evolution

%) hgbws: Yotdoddot) D) %3’

(i) %o dosderen, wrs) N6 Derew 200G S é odirA Aoy, QR ocires Deaciordy D6y
() & g ::gbaao 2 §0d 5700 ) oairt Do GotRd

(i) 008 Dot Hockng Dascio Dodior DA Bedoiy

(i) & £0t0 Do A6\GEPDE QPAYTAD DA rdinoed. 76 &3 DBy §3006" 0 ok

Options:

(i), (ii) & (iii) only
o @, (i) & (iii) 208D

(ii) & (iv) only
S (i) & (iv) 2rgd

3. (), (i), (i) & (iv)
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(i), (iii) & (iv) only
o @), (i) & (iv) 2o

Question Number : 6 Question Id : 8135612726 Display Question Number : Yes Is Question

Mandatory : No
In floral formula. ‘K" and *C’ stands for

Ry PAWEGE0S” K 2obosn ‘C7 & ArdoBdd

Options:

K — corolla. C — calyx
, K—esds DoV, C — 688 DTV

K — calyx. C —corolla

K — 648 Dorav. C — 5808 Dorav
2. =

K — calyx. C —calyx
- K-0688 D509, C - 688 25709

3. %

K — corolla. C — corolla
, 1 K- 0808 05750, C - e8¢ Dgrd?

Question Number : 7 Question Id : 8135612727 Display Question Number : Yes Is Question

Mandatory : No
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Assertion (A): In nepenthes leaves are modified to trap insects

Reason (R): Insectivorous plants trap insects for their nitrogen requirement

D3ydo (A): 0B & HTL SUSVR LBoEILL VR Errodto Bk
5660 (R): SLSIG 2008) e T8 A2 9300 §65 LTV woBotidR

Options:
A is correct but R 15 wrong
. A 358 52 R 2857

A is wrong but R is correct

5 % ARVOSA 57 R DJ/G

Both A and R are correct and R 1s not the correct explanation for A

3 % A D080 R 20 Todr HFD) S°A R 0938 A S DI D568 57

Both A and R are correct and R 1s the correct explanation for A
& A 200030 R 20 Gollr roga:) S0BaiL R 0208 A S [STeln o lsTe 1o

Question Number : 8 Question Id : 8135612728 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not a stem modification?
208 T°D° SPol ErdrotiGo STA?

Options:

Tendnls of cucumber

| wx GRS 200 Sdew

Flattened structures of opuntia
8035785 BHERD Do) FTen
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Pitcher of Nepenthes
ADoBDS” sy
3.

Thoms of citrus

4 % 3&)&2’5 ST,

Question Number : 9 Question Id : 8135612729 Display Question Number : Yes Is Question
Mandatory : No

Strobilanthus kunthiana flowers once

NGz (FDerodR Sodaira) Yayotdco

Options:
100 years

100 RodS\T 0 2,898
- &

30 years
5 30 RoDS\T VL 2,830

12 years
12 RodDS\T 0L 2050

3.+

50 years
4 % 50 RoDS TV 2,538

Question Number : 10 Question Id : 8135612730 Display Question Number : Yes Is Question
Mandatory : No
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Integuments are absent in

$08 T7IS" oBEIETRD T Wore (L ) e

Options :
Helianthus
, RrdsTodo (3dairosd)

Loranthus

Polygonum

L % FOF Do

Darara

e S

Question Number : 11 Question Id : 8135612731 Display Question Number : Yes Is Question
Mandatory : No

Meiocytes are

QOCIT°DED

Options:
Gametes
Doa3rtidre

Gamete mother cells

, o Nodird Da Ard)Stred
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Haploid gametes

DS DAL oo e
3. & n

Diploid gametes

G0 DAE VoI Daren
4, % -

Question Number : 12 Question Id : 8135612732 Display Question Number : Yes Is Question
Mandatory : No

In Oogamy, fertilization involves

906 oo’ DVAS6R0S” Y JaroB3)?

Options:
A small non motile female gamete and a large motile male gamete

|y 2S0R) TR OIS S Boalr( Dao, 28 DG AB PR Voalr Do

A large non motile female gamete and a small motile male gamete

| o ¥8 DG DOD 6L B Doalr(s Davo, 28 D) ARD PR Voddr(ido

A large non motile female gamete and a small non-mofile male gamete

x w8 DG SO GeTd ?g Qo Dao, w8 DY) BV Gerd PHAX Rodirrdao

A large motile female gamete and a small non-motile male gamete

, w NS DG A 2 Rodird Dao, w8 DI) BOD Gird YHEX Voalridao

Question Number : 13 Question Id : 8135612733 Display Question Number : Yes Is Question
Mandatory : No
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The side of flower facing the mother axis 1s called

DED vEo PPl YA W) AreBd

Options:
Anterior side
1 % Qroelodo DY)

Posterior side
> DT oo D)

Dorsal side

Ventral side

4w GO0 o PO

Question Number : 14 Question Id : 8135612734 Display Question Number : Yes Is Question
Mandatory : No

Benthem & Hooker divided the following plants into 3 classes which inclndes

o) ok T8 e ;’:)3:13::6 A8 O 3 BdrdvenrT DHRoW0. )

Options:

Dicotyledonae. Angiospermae. Monocotyledanae

. BLEY Daen, 358 DaFen, DSHL e
1.

Dicotyledonae. Gymnospermae. Monocotyledanae

- BT Daren, Ddyd Darew, Dsce Dared

3. "
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Pteridophyta. Bryophyta. Angiospermae
SOE DL, LOITPET, €35 Daren

Bryophyta. Ptenidophyta. Gymnospermae

2O, B8 DT, Dy e
4. % =

Question Number : 15 Question Id : 8135612735 Display Question Number : Yes Is Question
Mandatory : No

Study the given statements and select the correct option?

(1) Carbohydrates. proteins. nucleic acids and hipids are primary metabolites
(11) Alkaloids. flavonoids. rubber etc: are secondary metabolites
(i1) Linoleic. linolenic and palmitic acids are the three essential fatty acids

B Ay TSR 6 FBGOD TR ) Eod:?
(i) Dol DT, TBR000, Sogs Baren, 0 FEWS IFArS Ty
(i) e Lo, FITONE, 62)6 AGVHD B BISAS\T)
(i) DSOS, DSOS, FBS esdren 3 u3(s S viren

Options:

Statements (i) & (ii) are correct
i (1) & (ii) SO OALDD

Statements (i) & (iii) are incorrect

= & (i) & (iii) Trs~jen VOTDAD 57

Statements (i) & (iii) are correct

5 % (i) & (iii) orsejen 2BADHD

Only statements (ii) 1s correct
i (ii) & T°S{o S0rS20 DOADAS
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Question Number : 16 Question Id : 8135612736 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

Chromosomes

Centromere

Chromatids

(a) Metacentric

(1) Nearer to one end

(p) Extremely short and long

(b) Telocentric

(1) Middle

(q) One amm

(¢) Submetacentric

(111) Close to its end

(r) Two equal arms

(d) Acrocentric

(1v) Termunal

(s) One short one long

S0 TR BBDG0G
§ardow ol ad EardEew
(a) eroL)s () wsE¥08odonsris | (P) w8t eprr T, 268 T
(b) 08 (i) o () w8 erTod)

(c) %5 DEFLIE

(1i1) 28 S/ orer oyl

(1) 2 RNAFIDN WPV

(d) eEots

(1v) S8
Q

(5) w8 eriro T, st T8

Options:

1 u Ca—i—p), (b—ii—r), (c—iii—q), (d—iv—s)

, « (a—ii—r), (b—iii—q), (c—iv—p), (d—i—s)

3 ¢ Ca—il=7r), (b—iv—q), (c—i—s), (d=fii=p)

4 % (a—iv—q), (b—i—p), (e—ii—r), (d—ii—3g)
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Question Number : 17 Question Id : 8135612737 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement of Biomolecules?
RIENVPYVL VotoGow) VBADIB S° T~S(o”

Options:
The most abundant protein in Biosphere — RUBISCO
2T 50008 Sod VARAT &) T — DI,

Cotton fiber i1s Protein
, o D@ Tdo— s Feddo

Fungi have complex polysaccharide 1s Chitin

3Domren 583 0 DosA FPT &N shosnecH
3. %

The most important form of energy currency 1s ATP

| ED 306" 08 A0a DD 3§ G0 — ATP
4. % @ =

Question Number : 18 Question Id : 8135612738 Display Question Number : Yes Is Question
Mandatory : No

Choose the incorrect statement?
B DB Q) TS DBALIG 57IB?

Options:

Guard cells guards the Stoma
. % GES SETen DG Comr ) 620t

Guard cells are enucleated

, o 0%8 Stren Sods GarTEe
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Guard cells have uneven cell wall thickening

3 % BLS SETO SXE(RD w8 Moo GokY

Guard cell possess chloroplast

% g OL£S Srren r8atrRHVA DIV

Question Number : 19 Question Id : 8135612739 Display Question Number : Yes Is Question
Mandatory : No

The characters restricted to monocot Stem & Leaf respectively

DEGY 22 St BN DPo AL ATBD HBDLSD VLT

Options:

Trichomes & Bulliform cells
g? S0y S0Bos ewdIE) Seen

1. %

Lysigenous cavity & Bulliform cells
, o VOIS SIGo SHBOKD m@&ﬁé SET°e

Trichomes & Lysigenous cavify

L, E5%0) S0basn wabErd S33Go

Bulliform cells & Lysigenous cavity
 edI6) seren B woLES STCo

4, ®

Question Number : 20 Question Id : 8135612740 Display Question Number : Yes Is Question
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Which statement 1s correct?
S0l TS PBGDD Ts(e?

Options:

Phloem fibres are absent in most monocot
5 5 DS ST DSAY Drered” NS Snere T Gokd)

Phloem parenchyma are absent in most monocot

L DS EEY DS’ DS S02rw 0y SHEPV0 Gokidd

Phloem fibres absent in the primary phloem
i TAS TS Seerwes” VNS Srerw TGN Gokd)

Phloem fibres absent in the secondary phloem

4% 'S Seere) Teoe ése‘acm VNS Smreodd” Gokd)

Question Number : 21 Question Id : 8135612741 Display Question Number : Yes Is Question
Mandatory : No

Cambium activity 1s

Deraf Seereo dairrdersh

Options:

more active towards the periphery of stem
, Sofo DDV ardio D 8 éojre:bésa A6 T

more active towards the lateral sides of stem

. il S olio 3"6')5 TRV PR WHS SaIrS) S B

3.
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more active towards the mnner side of stem
Sotio 50D PN VBS So3re) SB BIH

same on both sides

4 % RODDY 2,8T° GotO

Question Number : 22 Question Id : 8135612742 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Desert Plants have sunken stomata

Reason (R): To enhance transpiration in desert plants

Q3 Bo (A): o8 2 a0 BAWERD DG Sorod S8 Gotran
5600 (R): 68 208), 06" R e’ 818 D)y Dotioere” ¢y

Options:
A 1s correct but R 15 wrong
1 @ A DZIG 57 R 105"

A 1s wrong but R 1s correct
A D057¢L 570 R JD0/H

Both A and R are correct
_ A 2080350 R o0 Bolr 205

Both A and R are not correct
A 58030 R e Godr DBID 5°)

Question Number : 23 Question Id : 8135612743 Display Question Number : Yes Is Question
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Match the following?

Column I Column II
(a) Predictable change in species composition (1) Equlibrium
(b) Climax community (1) Seral stages
(c) Entire sequence communify (111) Ecological succession
(d) Transittonal community (1v) Sere
(v) Succession

S0 TN BSNGBG”
3600 - 1 3% - 11
(2) SAFRABOT 200 NN’ Gierotiie) Srdne | (i) :owga
(b) €56 Moo (i) 5:»%05: ¢80
(¢) 83008 AN A8 DAEairen (1if) €856 DotIod BRGS0
(d) Sardad Hanmrasren (iv) 9o
(v) g0
Options :

. % (a—1),(b—v),(e—iii),(d—ii)
, ¢ (a—iii),(b—i),(c—iv),(d—ii)
3 % (a—ii),(b—iii),(c—v),(d—iv)

4 % (a—iv),(b—v),(c—ii),(d—i)

Question Number : 24 Question Id : 8135612744 Display Question Number : Yes Is Question
Mandatory : No
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Water potential of pure water at standard temperature 1s

G &' DG DORG Bwo AIE), A ¥S)0
@ £ @ o

Options:
1.v 0

5. 98 Dl
3 &% s |

4, 8 0

Question Number : 25 Question Id : 8135612745 Display Question Number : Yes Is Question
Mandatory : No

Which one is not an ethylene effect?

DAS® 2,88 ABDD Herdo B DE?

Options:

Honzontal growth of seedlings
e m:sg,m‘i‘ TG0 208) 0 VATeSS DALMY

1, %

Swelling of the axis

e©so euac‘.n
2. %

Apical dominance
T HS(S
4

Apical look formation in dicot seedlings
4w ON6¥ D T 208) 05" §5) 0 erot) o Saird
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Question Number : 26 Question Id : 8135612746 Display Question Number : Yes Is Question
Mandatory : No

The magnitude of increment m water potential in a turgid cell is called

28 D8 108" A P3Toticio S0 Jod6L 8 380 2 BodoS T otr )

Options:

Solute potential

. T 3S)0

Pressure potential

§
- DGR FS)0

Water potential

. 58 ¥S)0

Osmatic potential

_ BarR0m %Séu
4, ®

Question Number : 27 Question Id : 8135612747 Display Question Number : Yes Is Question
Mandatory : No

Foolish seedling disease of rice led to the discovery of

358 7 ::msbms‘ Sty 309 BE),D Aows T(B 2B SORAEDE b HNed?
Options :
Abscisic acid

@ﬁbi&!g e300
1. # -
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Cytokinin
658D
2.8 &K

Auxin

3 % eséD.S

Gibberellin
4 o 20 STV

AP EAPCET 2021

Question Number : 28 Question Id : 8135612748 Display Question Number : Yes Is Question

Mandatory : No

Match the following?

Enzymes

Functions

(a) Lyases

(1) Oxido reduction

(b) Isomerases

(i) Link compounds

(c) Dehydrogenases

.....

(d) Ligases

(1v) Interconversion

(v) Removal of groups

$08 T BSHOBA?
QoS0 T¢ Do
(a) VOHED (i) ©58y808 SODHEGR B56[R
(b) 22008 (i) eomrw 90

() CarEradud

(iif) RdVEFALrD) WA Bobod

(d) oA

(iv) e0dd ddS’ F&"0R

(V) AV S hotda

Options:

1 ¢ (a—v),(b—iv),(c—1i),(d—ii)

AP EAPCET 2021
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> x (a—iv),(b—v),(c—ii),(d—iii)
3 % (a—iii),(b—ii),(c—iv),(d—1i)

4 % (a—i),(b—iii),(c—v),(d—iv)

Question Number : 29 Question Id : 8135612749 Display Question Number : Yes Is Question

Mandatory : No
Assertion (A): In Apoplast pathway, water movement 1s ultimately Symplastic i endodermis

Reason (R): Root endodermal cells are suberized

A3y (A): D o R Jerdod Bdoddid 8, ©odxi6)0 ¢ Do JErdodS” 20MEA
6t0 (R): S0 wod6) Srren rwdd 38 Q0GR
Options:

A 1s correct but R 1s wrong
A 20HS 57 R DB

A 15 wrong but R 1s correct
. A DB 57 R 2J/S

Both A and R are correct and R is not correct explanation for A
A 08050 R e Gotr 283D 5°0 R @938 A S 20D Dd6es s

Both A and R are correct and R 1s the correct explanation for A

. A 20803 R e Sodr 0D S0dain R 938 A S 20D DH0e

Question Number : 30 Question Id : 8135612750 Display Question Number : Yes Is Question
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Mandatory : No

Transition State

5 DO 30

Identify the labeled parts 1,2,3,4 in
the Concept of Activation energy
shown m the below diagram?

GRS 38 IV VooBowd Sod

Potential Energy
RS 3§

5008'D 1,2,3,4 ol oo

Progress of reaction
o 00

Options :

| - Activation energy with enzyme. 2 — Product, 3 — Substrate, 4 — Activation energy without enzyme
5 - o8 630 38,2 - 60\ B0. 3 - 665 Hrdo. 4 - DB vt 6380 98

| —Product. 2 - Substrate.3 — Activation energy with enzyme. 4 — Activation energy without enzyme
, | -60\8%. 2 -ed b, 3 - oBS GRS 38, 4 - DB Tt GRS $8

| - Substrate, 2 — Activation energy with enzyme, 3 - Product. 4 — Activation energy without enzyme
. |- 08000, 2 - DoBE adad 3. 3 - aer\Bdo. 4 - DB Toor adad 3§

| - Activation energy without enzyme, 2 — Activation energy with enzyme, 3 — Substrate, 4 — Product

. | - doB Geror- 6324 3.2 - BNS 632 #.3 - O oo, 4 - 6730

Question Number : 31 Question Id : 8135612751 Display Question Number : Yes Is Question
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Which one 1s a bactenial disease?
DS’ erddair T D&?

Options:
Rust of Tea
| % S8088 Arben

Red rot of sugarcane
x DO G ST Srdew

Citrus canker

Dm& (i Sroew
3.¢ 2

Late blight of potato

LT G0 SE588) Srden
4, % -

AP EAPCET 2021

Question Number : 32 Question Id : 8135612752 Display Question Number : Yes Is Question

Mandatory : No

Prophage 1s viral genome

DoEH I DS 20§00

Options:
Freshly synthesized

| x TET RoFE BALLCAE

Inoculated to a bacterium
. wéﬁoﬁ:’.ﬁ:s—b esren Dobco

AP EAPCET 2021
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Outside the host cell

_ OG0 St3o DDV &6
3 ™

Incorporated and mntegrated to host genome

o8B0 280[0E6ed’ DDde BBOID VATEDBHE
4.9 -

Question Number : 33 Question Id : 8135612753 Display Question Number : Yes Is Question
Mandatory : No

Mendel's work remains unrecognized because of the following reasons except

206 HOLrTren MHBotnEsd' S8 560 S°RA?

Options:

Lack of communication and no publicity
RATEG Dotiomre S5 Hke. DEEde T8 Ao

1.%

Concept of genes as stable discrete units

- 2RAEDV 2P DS Go B[P :"gdnrr. :)29 DATETLIT &0t

Application of mathematics to explain biclogy
| 23TIF) DDBorL) (ST I D) DT Hotddo

He provided physical proof for the existence of factors

i S°G5TeD a:qlb 29,08 NS 3T T LD 9oBoBA)

Question Number : 34 Question Id : 8135612754 Display Question Number : Yes Is Question
Mandatory : No
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Single gene can produce more than one effect, like starch synthesis in pea plant. It has two alleles
(B &b) for starch synthesis the phenotypes of which are also given below BB, bb, Bb . which are
correct?

(1) BB — round seed, large starch gram

(11) bb — wrinkled seed. less starch grain

(1) Bb — mtermediate size seed, intermediate less starch synthesis,

o) AWE) &' 28 2R F6y odin Jo8) WA S0 rSod) G3\D eV,
96 6y Do E1do Dot atrl) e (B & b) D Gokod. I ), ey drdrom
Brodd 9.3 BB, bb, Bb 8" Da) PBLAD?

() BB — A& Do, D 6y S

(1) bb— Bcade) Do, B, Bod. B

(i) Bb — o683 HOArraoriey Do, 88 Dodt S0 Rodi

Options:

(i) & (ii) only
x () & (i) Srad

(ii) & (iii) only
, s (i) & (iii) 2

(i) & (iii) only
3 x (1) & (iii) S

4 (@), (i) & (iii)

Question Number : 35 Question Id : 8135612755 Display Question Number : Yes Is Question
Mandatory : No
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Arrange the following events of the replication of DNA. Choose the correct altemative?
(1) Bonds between complementary bases breaks
(1) Bonds between complementary bases forms

(1v) Opposite strands separate

(v) Sugar phosphate bonds forms

(v1) Free nucleotides align with the complementary nucleotides on each strand
DNA 88,8 G108, 8o RonBSLR) S8 $3008" B306y0. 930 DEET alrd) iy ol

(1) RoRPds STV D[ LITLd ) YT

(i) RoFds TV DA LT 6 AT

(1t) DNA 6000 toknd e dco

(iv) QB Ysen Aéderan

(v) w0 5‘2"0_)6 BIoLTeN) deca'w

(i) 06 0 b
Options:

x G, @), GiD), (v), (), (i)
) w (i), i), (), (v), (v), (i)
L« @, (i), (D), (v), (i), ()
s v (i), @, (v), (D), @), ¥)

Question Number : 36 Question Id : 8135612756 Display Question Number : Yes Is Question
Mandatory : No
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The below diagram represents a typical

biogas plant. Select the correct option for A.

B and C respectively?

B0 R DA LA Fob) ——,
250080008, 83" A. B &daw C oo | \©)

thBotinidn?

Options:
A — Sludge.

. Aﬂagaa‘g“w.

A — Dung + water.

= A - D&+ Do,

A — Sludge.

2 A- iﬁlsg .Jcrgw.

A — CHy + CO;.

o u A~ CHy+CO,.

Digestor
2o tSh &rflo

)

o

B — Dung + water,
B — D&+ D,

B — Sludge.

B— ;553 ‘a")r.:rg’w.

B> Gl 4C0,,
B - CHy + CO;.

B — Dung + water.

B — & + Dav.

C - CH, + CO,
C - CH, + CO,

C - CH, + €O,
C — CHy + CO;

C — Dung + water
C — & + water

C — Sludge
C—- ::56 DT
@ A

Question Number : 37 Question Id : 8135612757 Display Question Number : Yes Is Question

Mandatory : No
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Match the following
Features Action Function
(a) On (1) Kanamycm (p) Copy the number of linked DNA

(b) Selectable marker

(11) Transfer genes

(q) Link Alien DNA

(c) Clonmg Sttes

(111) Replication

(r) Elimnate non transformants

(d) Cloning Vectors

(iv) Recognition site

(s) Plants and Animals

$0d TN BBHOBC.”
VLW o {Oae 28
@) O (i) SN (p) Wowrf)20% DNA $50R) Jocht
(b) Dows Babest 3766 | (i) adEHw wad | (@ derSa DNA & todidydnd
() §Roh péTw (iil) pA%AS (1) 983880 50 SEPLR Svhotio

(d) §of Tz

(iv) MoBoiy) pETW

(s) :‘.msz]w 200010 2ot

Options:

| % (a—i—s),(b—ii—r),(c—iii—q),(d—iv—p)

5 ¢ (a—iii—p)(b—i—r)/(e—iv—q),(d—ii—=s)

3 % (a—ii—r),(b—iii—p),(c—i—s),(d—iv—q)

4. % (a—tw—q)(b—ix=9),(c—ni—p),Ld—i—q)

Question Number : 38 Question Id : 8135612758 Display Question Number : Yes Is Question

Mandatory : No

Select the incorrect statement of technique Gel Electrophoresis?

86 QUEITHD alroGsods’ VOILIA S°AE?

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

Options:
The agar matnix gives sieving effect

: % a8 E 25 Trod) Herdod SOBAiL

The DNA fragments are separated based on their size

< DNA 2odoren T8 bawwmﬁmmﬁ 260

Extraction of DNA from Agarose gel 1s Elution
. A0 E 86 Aoc. DNA Q00 B3O 0. BID SIS otrdd

Separated DNA strands are stained with Calcium Chloride

4 o D0BabeESd DNA wodoren s8abo §06.8 ©DGondo BI WD

Question Number : 39 Question Id : 8135612759 Display Question Number : Yes Is Question
Mandatory : No

The use of friendly bacteria for therapeutic use 1s a concept of

R) FIPOSA wéﬁoﬁﬁm (B aééaﬁ‘ &DArAohd” Qe Ay 2

Options :
Antibiotic
| x RPE) 8D T°¥So

Probiotics

P, ;fmcﬁreﬁéb

Beverages

L 0B FrJosren

4, ®
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Enzymes
2o

Question Number : 40 Question Id : 8135612760 Display Question Number : Yes Is Question
Mandatory : No

Study the following statements and select the incorrect ones’
(1)  Physical removal of large and small particles through filtration and sedimentation is
called primary sewage treatment
(11) Secondary sewage treatment is mainly a mechanical process
(1) Activated sludge sediment in s sewage treatment plant 1s a rich source of aerobic bacteria

(1v) Biogas. commonly called as gobar gas. is pure methane

4008 DELRVR (R0 BaDiod. VOS™ w TN D) Eol?
() &8s $m0d DY, D) DY LU HETS, ¥R T SNITE. GBI
FEWE A0HNS 208 o o
(i) xdab andrbad 298 oo wé WM aireds Hiad
(i) 30068 D& 8 263 afdogoed’ &) WAFH 20T OIS0, VO Tadw
EP300IT ST Gotiod
(iv) rarogom Hd T050g) 6 Hevswd SRS @S
Options:

(i) & (ii) only
, x () & (i) drad

(ii) & (iv) only
, o (ii) & (iv) Srgdo

(ii) & (iii) only
5 x (i) & (iii) Srgd
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(iii) & (iv) only
(iii) & (iv) Sra

Zoology
Section Id : 81356160
Section Number: 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 41 Question Id : 8135612761 Display Question Number : Yes Is Question

Mandatory : No

Regional diversity 1s also called

28 DS Motiwod (v 2D DV €908

Options :
Gamma diversity

T Q&')Cé?su
1. ¢

Alpha diversity

e3e7°\ DG o
2. % Y

Beta diversity

i ez PAG{o
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Ecosystem diversity
A% RT"D06e PGB0

Question Number : 42 Question Id : 8135612762 Display Question Number : Yes Is Question

Mandatory : No

Taxon ‘Tigns’ represents

‘OO RRG D EPETYD A AR ?

Options :

Class
2o

1. ®

Species
2. v &8

Fanuly

3 % SotLoto

Genus

4 % POl

Question Number : 43 Question Id : 8135612763 Display Question Number : Yes Is Question
Mandatory : No

Amongst all the kingdoms, the only taxon that exists in nature as a biologically cohesive unit is the

08,06 63) e T2{ue’ D 08 Bodi) (7510 £ Dol Ao 2:30otoERR Rodlrd

@

ePEI0MT GolTPOW.

Options :
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Phylum
200
)

Species
g O

Genus

5w T8

Kingdom

4 o TR

Question Number : 44 Question Id : 8135612764 Display Question Number : Yes Is Question
Mandatory : No

Which of the following has no coelom?

S0 T°ee5° 386 HirGo T EHHew

Options :

Platyhelminthes

> b‘b&uéﬁ)
%

Arthropoda
vgﬁ"w

Annelida
o

Mollusca

;ﬁovﬂ'b
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Question Number : 45 Question Id : 8135612765 Display Question Number : Yes Is Question
Mandatory : No

Which of the following 1s correctly matched?
(1) Coelomates — Aschelminthes

(11) Triploblastic — Sponges

(1v) Metamerism — Molluscs

208 T°8365° DO RADGHEDE
(1) DS’y — B9 0dD
(i) OJerds — DyoRSew
(iil) Sdwab Indo — STothder
(iv) RDOPoE DT (R — MOIY,
Options:

(i) only
(i) Srgdo

1.8

(ii) only
, w (ii) arad

(iii ) only
3. v (ii) 278

(iv ) only
4 % (iv) 3rgdo

Question Number : 46 Question Id : 8135612766 Display Question Number : Yes Is Question
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(a)
(b)
Label the parts corresponding to the alphabets m the
given diagram given?
& D08’ WrHD U Hdotsed?
(¢)
(d)
Options:
(a)- Nissl granules.  (b)- Dendrites. (¢)- Synaptic Knob. (d)- Nodes of Ranvier

- x (2)- Ay Brwen, (b)-Gogtien, (0)- Tesm dodosendd, (d)- TAALE S

(a)- Dendrites, (b)- Nodes of Ranvier, (c)- Nissl granules,  (d)- Synaptic Knob
L @- GogtSen, (b)-TQON6 S, (c)- Aoy Braopew, (d)- TEE0 PoBoDENED

(a)- Dendrites. (b)- Nissl granules. (c)- Nodes of Ranvier. (d)- Synaptic Knob
5 o (2)-Cogen, (b)-0yS Bearpew, (c)- TAAHE S0y, (d)- Tt Rodabrodd

(a)- Synaptic Knob. (b)- Nissl granules.  (c)- Nodes of Ranvier. (d)- Dendrites

3 (2)- TESe0 Dodoendd, (b)- .'0233'5 Geaden, (c)- trbsomé gewy), (d)- cog_esw

Question Number : 47 Question Id : 8135612767 Display Question Number : Yes Is Question
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Which of the following statements are wrong related to Nematoda?
(1) Body 15 covered by tough and protective collagenous cuticle
(1) Excretory system consists of renette gland and ducts
(1) Alimentary canal 1s incomplete
(1v) Sense organs like amphids and plasmids occur

(v) Sexes are not separate (Monoecious)
NArE T DotioBow) S0 &) DELNLD VSTY)?
(i) B B5Bow) FOBC\ED, GYED STad BB ST Gotwod
(i1) :):'ogs ::5:;:36‘ GRE (oo, SR oo
(111) e8¥6T Yo mcwgmm GotLod

(1v) eSoe&en. é‘i:érim erot) FT 0T Gotra
(v) &z0Hdof Edyen

Options:
(i) & (1iii) only
1 % (i) & (iii) Sraddd

(i) &(v)only
, x (1) & (v) 2argd

(iii) & (v ) only
L o (iii) &(v) srgd

(i). (iii) & (v) only

4w (1) (i) & (v) Sr8d

Question Number : 48 Question Id : 8135612768 Display Question Number : Yes Is Question
Mandatory : No
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Study the following and find the correct combinations related to Arthropoda

Subphylum / Class Character Example
1) Arachnida a) Extinct marme arthropods p) Julus
1) Crustacea b) Gnathochtlarum q) Dalmanites
1) Chilopoda ¢) Poison claws 1) Aranea
iv) Diplopoda d) Buramous thorasic & s) Scolopendra
abdominal appendages
v) Trilobita e) Spinnerefs t) Cancer

ug‘.”ms: Q080800 S0 T 3B HBALH SLONEVA Jos BoDod

&G0 / derlo vEno e e
) oo a) 6 Ded ug.ﬁ“&w p) FOR
ii) gRnalr b) @odsen draroddo Bod Q) TORLR

?ﬁgﬁ&oﬁu
iil) 3SJTE ) DY) dyrew 1) JoRodr
v) e d) ﬁS?bon 3% 666 &Forey | 5) V) deE
V) QQS“ ger e) D)3 ) 596
Options:

1 & {i=b=r)(li=d—q) (li-c—g) (iv—e—t)&(v—a—p)
2_@{,(i—e—1'),(ii—d—t).(iii—c—s),(iv—b—p)&(v—a—q)
3 % (i—e—r),(ii=d—t),(ili—b—p),(iv—c—s)&(v—a—gq)

4 % (i—-b—p),(li—d—t),(illi—e—1r),(iv—-c—s)&(v—a—q)

Question Number : 49 Question Id : 8135612769 Display Question Number : Yes Is Question
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Assertion (A): Mammals have a relatively large brain when compared to that of other animals
m relation to body size
Reason (R): Number of optic lobes is four in the mammals and two in other vertebrates

TGS (A): 966 BAFTR) RMBeD 286 2odoHud’ T\ L6mrud’ 6l
bgérr GotLo®d
560 (R): $6mrod’ T ¢y vodsen GolrT 986 E:HVE’ G0t AT Gotray

Options:

Both A and R are correct and R 1s the correct explanation of A
A S0Ba3w R en Todirr 28 ©2000). R 0938 A € D000 D068

1. %

Both A and R are correct and R is not the correct explanation of A

5 o A 208030 R o0 Todir 20 ©90038). R 938 A S 2009008 DI08 S°C

A 1s correct but R 1s wrong

3 % A DBIS 57 R DO

A 1s wrong but R 1s correct

4 1 ARBTE 5 R 2036

Question Number : 50 Question Id : 8135612770 Display Question Number : Yes Is Question
Mandatory : No

Cavity lodging lungs is

& 083GV B0 £Dyold Lo

Options:

Stomata

2ors0io S0vrCo
. %
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Abdomen
> x &&0o S0°Co

Thorax
3 ¢ &O:L0°Co

Chest

. T irdo
4. %

Question Number : 51 Question Id : 8135612771 Display Question Number : Yes Is Question
Mandatory : No

The smallest mammal 1s

0 DI) L6BI0

Options:

Hog Nose Bat

% o) S‘:) ﬁ&ﬁavn
1. ¢

Pigmy water shrew

of) o6 3
, » By B

Pigmy Mole

bﬁé 2075
3. %

Plasmodium

4% é"sﬁé’dma
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Question Number : 52 Question Id : 8135612772 Display Question Number : Yes Is Question
Mandatory : No

The neuromotor system that controls and coordinates the movement of cilia 1s formed by

30500 sedgu atodord PSD(OD HBED TeTUS S0 RN WY

Options:
Kinetic and cilia

. 0 SD3en Hdokn 3Dgen

Infraciliary system and kinetodesmata
Q) #0s™ 5D dokw SIS EI) e
2. % s ® =

Infracihiary system and motorium

a0y 20 SR J0Bosw 2565 Basy
3. ¢ - @

Kinetosome and Infracihary system

SV dain Qaoy 30se SIS
4‘ 3 - . - . m

Question Number : 53 Question Id : 8135612773 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?
List1 List II
1) Cellular extensions a) Myonemes
1) Whiplike organelles b) Cilia
i11) Contractile fibrils ¢) Pseudopodia
iv) Short hair like organelles d) Flagella
S0d TN 2BHGBeC.?
b1 BRI
) g6 D6ReD 1) So6 Bodo)en
ii) S6rerod) Strorren b) 30sen
iil) 208t 38 £DAR Sodoen ¢) DEFErmw
iv) W) oS erotd SErorTen d) gwearen
Options:

. % (i—a),(ii—d),(iii—c) & (iv—b)

, ¢ (i—¢),(ii—d),(iii—a)&(iv—b)

. x (i—d), (ii—a),(iii—c)&(iv—b)

s % (i—c¢),(ii—a),(iii—d)&(iv—b)

Question Number : 54 Question Id : 8135612774 Display Question Number : Yes Is Question

Mandatory : No
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Assertion (A): Plasmodium causes hypertrophy of RBCs in man
Reason (R): Number of RBCs in man increases due fo Plasmodium

TED (A): SrdPAS’ AgsgsITe FO6E DS FI)dao s6eo0
5°660 (R): Ard )RS’ dgsssere R0 DA ?ﬁ&dmm B EHEIB00O
Options:

Both A and R are correct and R 1s the correct explanation of A
, A 08030 R a0 Godr 28 o0d). R 938 A § 2800 D566

Both A and R are correct and R is not the correct explanation of A

5 % A 200030 R 20 Gokr 20 20055, R 0938 A 8 2009000 3568 S°C0

A 1s correct but R 1s wrong
3 @B NOAB 57 R Do

A 1s wrong but R 1s correct

ax A 2057 57 R 20/

Question Number : 55 Question Id : 8135612775 Display Question Number : Yes Is Question

Mandatory : No
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Match the following related to parasites?

AP EAPCET 2021

Parasite Disease Caused
1) Trypanosoma gambiense a) Delhi boils /oriental sores /
Tashkent ulcers
1) Wuchereria Bancrofti b) Malana

i) Leishmania donovan

¢) African sleeping sickness

1v) Plasmodium sps

d) Elephantiasis

v) Leishmana Tropica

e) Kalaazar / Dum dum fever /

Visceral Letshmaniasis

DO°R) BYHVS Votodotd) Sobd T wBVOLIC.?

20 9) 4D RozsDodd 7§

) OFSTrmodandy | a) 4D S'owdy/Lbosotd
J6y/ 72,085 Yot

i) &&66asr arous'ig b) TBasr

iii) i) dose EST Q) RS BT TB

iv) I} cabo ardow d) A0oBaLrR

V) b&é:)oir erase e) SO 0Eb/Cotio 200/ Bodtrof
bﬁ‘éboir’.oia

Options :
1 % (i—c),(ii—d),(1ii—a)(iv—Db)&(v—e)

L, (i—d),(ii—c),(iii—a),(iv—b)&(v—e)

4 % (i—=d),(ii=b),(iii—a),(iv-c)&(v—e)

Question Number : 56 Question Id : 8135612776 Display Question Number : Yes Is Question
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Mandatory : No

A protein or polysaccharide molecule that stimulates antibody formation 1s

2080 $airdd HENetdY s YES Jor FOTVE PR DAotrd)?

Options:
Anftibiotics
Arg) 25 T

Antigen

3 @ POVVS0

Exotoxim
mi:uga Do

Toxin

4 % &3 Do

Question Number : 57 Question Id : 8135612777 Display Question Number : Yes Is Question

Mandatory : No

A unit of photoreception in the eye of cockroach 1s

£5°Gos AINE), Doains 29085’ 10 S0 TIPS HATR0

Options:

Facet
:3::1953 (Soaderren)

Crystalline Cone
L RS S0
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Rh abdome

, o DT3GR doco

Ommatdimum

i ~TroTo

Question Number : 58 Question Id : 8135612778 Display Question Number : Yes Is Question
Mandatory : No

Digestion i Periplaneta begins in

DOFDEF Dotdd 2oSap gvdna;smcﬁ:é 2°rio

Options:

Pharynx
1, % G0

Pre oral cavity

5 o S8 Qo 6o

Crop
3 % BT 300

Midgut
DE(POT Vo

4. %

Question Number : 59 Question Id : 8135612779 Display Question Number : Yes Is Question

Mandatory : No
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Match the following related to effect of UV rays on organisms?

ListI List IT
1) UV Light a) 320-380nm
1) UVC Light b) 280 - 320 nm
m) UVB Light ¢) 100 - 280 nm
iv) UVA Light d) 100 - 380 nm

£330 DS VSNVS TS Tod 6L PePTDE DotoBot) Sodd T BBVCBA?

D31 DRI
) eddus T $émen a) 320 - 380 am
i) 3 >S C od b) 280 - 320 nm
i) ©AAWS TS B 5% ¢) 100 - 280 om
iv) ©dduS TS A 5ed d) 100 - 380 am

Options:
- (i—d), (ii—a), (iii—b)&(iv—c)

,  (i—a), (ii—b), (iii—c)&(iv—d)
3 % (i—d), (ii—b),(illi—c)&(iv—a)
4 (i—d), (ii—e¢), (ili—Db)&(iv—a)

Question Number : 60 Question Id : 8135612780 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

AP EAPCET 2021

List1

List II

1) Logstic growth

Intrinsic rate of natural increase

i) Exponential growth

Produce a large number of small sized
offspring

1) Age Pyramid ¢) Breed only once mn their life time
1v) Pacific salmon fish d) Carrying capacity

e) Declining population

808 TR 280G
US)! O
1) RS :b)g ) TR MG faagnbé e
) b) frg) B0’ &) RoTrard) vis
1) 25y OIS 58
Aot 6\9 Babtio

i) Saxr T c) 8 Swod 28 wE) B PAB\D Ao
V) DS 3"0&5 B0 d) wrbSers 38

e) émméaél A

Options:

, x (i—e), (ii—a), (ii—-d)&(iv—b)

5w (i=d), (ii—a), (iii—e)&(iv—rc)

5 % (i—d), (ii—c),(ili—e)&(iv—Db)

4 % (i—e), (ii—a), (ii—d)&(iv—c)

AP EAPCET 2021
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Question Number : 61 Question Id : 8135612781 Display Question Number : Yes Is Question

Mandatory : No

Match the following?
List1 List IT
1) Calotropis a) Predator of Americana Pacific
i) Cactus b) Insects and frogs cryptically colored
i) Pisaster ¢) Distasteful glycosides
iv) Monarch Butterfly d) Cardiac glycosides
v) Camouflage ¢)  Predator is moth
08 TR RBHGB0G
D31 byl
) 29 a) @B DS BoTod HOBE
. b) Sesew, $oye0 HBRTLS sundiah
all Gorba 60 otico
i) R0 ¢) eFde QM G Tddo
V) ared), Sofsdens d) sBo%s 06 Rk
V) Sarad e) VOB a;é
Options:

| % (i—c), (ii—e), (iii—a),(iv—d)&(v—Db)

, o i=d), (ii—e), (Hi—a),(iv—c)&(v—h)

3. % (i—a), (ii—d), (iii—e)(iv—c)&(v-b)

4 % (i—e), (ii—d), (iii—c),(iv—a)&(v—>b)

AP EAPCET 2021
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Question Number : 62 Question Id : 8135612782 Display Question Number : Yes Is Question
Mandatory : No

The farmer in Sonipat who practices mntegrated organic forming is

030 Doah S(HFabo DES LIV TADS L BB JA

Options:
Morar1 Bapa

1 % Fobble ol 6]

Ramesh Chandra Dagar
S G0adod 10

Ahmed Khan
(X s écS "

3, %

Ramesh Bhait Ojha

2 %63352,30053&;&'

Question Number : 63 Question Id : 8135612783 Display Question Number : Yes Is Question
Mandatory : No
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Match the following. The correct combinations are

List I List II List ITI
a) Figtree 1) Highly distasteful p) petals of its flower
b) Ophrys i) Cryptically colored q) special chemical present
¢) Seaanemone i) Wasp 1) clown fish
d) Camouflage tv) Sexual deceit s) developing seeds
e) Monarch butterfly v) Stinging cells t) Insects & frogs

Sof) TR BAHOW, VTN DAFTT Vo) Jos Bolod”

0‘; I B"g II 0".3 il

1) ©9 Dot ) Eamarcdd | p) s a8 wsdn dga?
geddco

b) DS i) HBdTRd Q) 98 oo ¢BA
soNd'ad Gofhd Gotitlo

¢) » S i) €0t ) §9doew

d) srod Iv) Gofis Arwo ) eanbgg BoddoRy DT

) W), V) God g f) S5 & Sy

oEE Ees
Options:

1w Ca=gv=p); (b—=Hl—1), (e—vy=1), (d—it—q)(e—i—35)
, u La~#=—q)y(b=ii—8) (¢—v—r) (d=3—t) (e—~mw—p)
3 ¢ (a—iii—s), (b—iv—p), (e=v—r), (d—ii—t),(e—i-q)

4 n (@a=3=p), (b—iv—38), (e—v—r), (d—ii—t),(e—i=g)

Question Number : 64 Question Id : 8135612784 Display Question Number : Yes Is Question
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Mandatory : No

Match the following. The correct combinations are

ListI List II List IIT

a) Diapause 1) Temperature variations with p) Temperature lake
seasonal changes

b) Cyclomorphosis 1) Lightproduced by living q) Insects
Organisms

¢) Thermal ti1) Inactiveness 1) Pyrosoma

stratification

d) Bioluminescence tv) Seasonal morphological s) Daphna

variations

Sofd TR BBVGW, DTN VATTHoR Joas Bated.”

01 URBi 0% 1l
2) Gafrard ) B)u ArGHER) DD p) G000
e.g’(ju' .‘55033"& DOy
b) Zdomdroddad | i) 2P0 TI) &G dake | q) SbEw
¢) &8 RS0 iii) & dsorr Aodabde 1) 204
d) 23 voba iv) B ul) 306 usy38" | 5) Ty
Sy D60

Options:
1 u (@=ii=r), (b—iv—g), (e=i—p), (d—ii—s])

, » (a—iii—q), (b—iv—s), (c—i—p), (d—ii—r)
3 » (a=#—g), (b—iv—rx), (c—ili—p), (d—il—q)

4 (a—tlii=s), (b—iv—q), (e—~i—p); (d—ii—r)
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Question Number : 65 Question Id : 8135612785 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct group of statements
(1) Oxygen is carried by Haemoglobin
(1) Oxygen is carried by carbonic anhydrase
(1) Caron dioxide 1s carried by Haemoglobin

(1v) Sulphur dioxide is carried by Haemoglobin

Sod T7¢3e5° DB DIVT VI B0
(1)  FATHID 9520 VPV 6T B
(ii) STENREAITS & BS B VENYVA CTT BB
(ii) ATHDS STONDEAITT\ED ST BB
(iv) PATCHDD D6 6I7E B

Options:
(i) & (iii) only
| o () & (iii) 20

(i) & (ii) only
> % (1) & (ii) Sord0

(i) & (iv) only
3 % (i) & (iv) Qg

(ii) & (iii) only

4% (ii) & (iii) Soedd0

Question Number : 66 Question Id : 8135612786 Display Question Number : Yes Is Question
Mandatory : No
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Which 1s the correct sequence of the air passage in man?
SrRDES” D Doirrded AT WBD DA SH008” MBotsoc.?

Options:

Nasal cavity — Pharynx — Trachea — Larynx — Bronchi — Bronchioles — Alveoli

. TS DTG0 = (AR — TALTVo — RIS — TARTVo —~ TRV — Talws T
1.

Nasal cavity — Pharynx — Larynx — Trachea — Bronchi — Bronchioles — Alveol;

5 TNE° S%rbo = (AR — fosdi:és ~ TANTYo —~ FRTVo — F(RTVS T o508 T

Nasal cavity — Larynx - Pharynx — Trachea — Bronchi — Bronchioles = Alveoli
. TS Lirbo — Fosdbﬁs ~ (O — TAWTVo — TRTVo — TRTSW — Tok0E T

Nasal cavity — Larynx - Bronchi - Pharynx — Trachea — Bronchioles — Alveoli

TE LTG0 — A(BILS —+ TWT¥o — (RN — TANTFo — TR —~ Joios T
4, ®

Question Number : 67 Question Id : 8135612787 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Pulmonary aorta in human embryo communicates with systemic aorta by a thin
vessel called ductus arteriosus
Reason (R): In the heart of human embryo. oxygenated and deoxygenated blood are

completely separated

TER (A): 57 Dot (3G YYD AW Fars QPN DK GED BPBATAD
9 65T ¥0d SOHNETON.

5600 (R): PO dotiodS” Pyesaie)” e:raAaing 805 8 drd 657w
QPO SEdaed Gotron

Options:

Ve ™
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Both A and R are correct and R i1s the correct explanation of A
A S08030 R e Godr 20 20052, R @938 A S 280000 D566

Both A and R are correct and R 1s not the correct explanation of A
5 % A 0Bain R 0 Socr 20 ©0nd. R 0938 A § 28000 568 s°E

A is correct but R 1s wrong

5 o A 20X 57 R b5~

A 1s wrong but R 1s correct
4 x A 2057 5°A R 20HH

Question Number : 68 Question Id : 8135612788 Display Question Number : Yes Is Question
Mandatory : No
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Match the following WBC listed with the shape of Nucleus and choose the correct option?

WBC Shape of Nucleus
1) Monocytes a) 2lobes
i) Basopluls b) 3-5lobes
i) Eosinophils ¢) S -shaped

iv) Neutrophils

d) Kidney shaped

e) Disk shaped

SV ¢S Srrew B0k T8 Sods Grdo LAY BSHEL) WBN NAFETo Hotiod

30 68 STw Sogds 600
1) arSySD a) 2 wodsew
i) BBy b) 3 Aol 5 wodsew
i) RO ¢) S esdo
iv) m"g@‘bﬁg d) Ardeoto 560
¢) G, ¥sdo

Options:
1_«(i—d).(ii—f-‘)-(iii—a),(i‘.f—b)

, % (i—e),(li—a), (ii—b), (iv—2c)

3 % (i—d),(ii—b),(iii—¢),(iv—a)

4 » (i—a),(ii—e),(ili—e),(iv—=d)

Question Number : 69 Question Id : 8135612789 Display Question Number : Yes Is Question

Mandatory : No
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A diagrammatic representation of a Nephron 15 shown

in figure with labels 1 to 6. Identify them correctly?

8], 276 Gar Do 1 M08 6 ©e5E BN
s Rdwded. B RO MBotsd.”

Options:

L

2. R

3.¢

1- Efferent Arteriole.
4- Afferent Arteriole.

1- 90T e Godoe,
4- DT G,

1- Afferent Arteriole.
4- Efferent Arteriole.

1- DT S0doew.

4- eodrar S0,

1- Afferent Arteriole.
4- Efferent Arteriole.

1- DT> Gdodoen.
4- DT> G0N,

AP EAPCET 2021

2- Glomerulus,

5- Henle's Loop.

2- 658395™ otdyo.
B~ U§%55o.

2- Glomerulus.

5- Vasa recta.
2- 0489 V5° S yo.
5— 05",

[ - ]

2- Glomerulus,
5- Henle's Loop.

2- 688305 oSy,
5- 1‘?&)?53@.

AP EAPCET 2021

3- Bowman's Capsule,

6- Vasa recta

3- TR VS,
6- a'&ﬁg"

3- Bowman's Capsule.
6- Henle’s Loop

3- T MPS.
6- W;)'?S‘So

3- Bowman's Capsule.
6- Vasa recta

3- &0 VS,
6- X 05°
[ ]
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1- Afferent Arteriole.  2- Bowman's Capsule.  3- Glomerulus.

4- Efferent Arteriole. 5- Henle's Loop. 6- Vasa recta
1- @Doeer Gdodoen. 2- TS vs. 3- 6583V f'bt‘.')')n.
4~ DT GO,  5- Ao, 6- T¥0g°

Question Number : 70 Question Id : 8135612790 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is mismatched?
& Sod TG DBSTA) 2D DB ?

Options:

Cerebrum — Memory

mb:;bu — 0S8 35
i < =

Cerebellum — Equilibrium of body
. OV 0 — 386 DTRS

Olfactory lobes — Sense of smell
AL VoD — TR VotloBowdd

Medulla oblongata — Temperature regulation

S02PAVDAD — &' GT° Dododhes
4.4 & £

Question Number : 71 Question Id : 8135612791 Display Question Number : Yes Is Question
Mandatory : No

The primary visual centre/cortex is located

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el

TGS a1 oo ) C ST
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Options:

Parietal lobe

| % 5‘6;)5 oS

Frontal lobe

;& QPO oS

Temporal lobe

3 % 2020 Lod)S

Occipital lobe

e STV oS

Question Number : 72 Question Id : 8135612792 Display Question Number : Yes Is Question

Mandatory : No

Which one of the following pairs is incorrectly matched?

$08 TS BT BBDEVDE?

Options:
Insulin — Diabetes Mellitus (Disease)
L 20D — Cairatdd 2dOD (T8)

Corpus Luteum — Relaxin (Secretion)

5 5°6yR wsebabn — B8 D (JrdSo)

Glucagon — Beta Cells (Source)

" ARSI — DETSETren (Sureo)
3.
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Somatostatin — Delta cells (Source)
A% T35 FOS - Ayrsre (Survo)

Question Number : 73 Question Id : 8135612793 Display Question Number : Yes Is Question
Mandatory : No

LH and FSH are collectively called

LH 208030 FSH 00 92 2 oo ey dd?

Options :

Luteotropic hormones

w)gebo&ré*bé ::56“&5

Oxytocm

Somatotropins

| TS GOy

Gonadotropins

ﬁ?&§b5_)
4.v

Question Number : 74 Question Id : 8135612794 Display Question Number : Yes Is Question
Mandatory : No

MTP stands for

MTP e

Options:

1.%
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Medical Technology of Pregnancy

DEES O\ vd D 20 Dy

Medical Test for Pregnancy

WAESS O 3D DAY D
5 % 2 Y2 20) Ny

Medical Termination of Pregnancy

- EES 630D 4D DAY

Methodology Test for Pregnancy

i & OO B eD DAY Dy

Question Number : 75 Question Id : 8135612795 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): Myometrium 1s an important component of Uterus

Reason (R): Myometrium produces strong contractions during parturition

Aéy0do (4): Suciraniabo BHG rscvaaomé‘ 3 30D oo
57630 (R): 903 2o’ Adiravtioho @R Ded Tty S3\3 DAl

Options:

Both A and R are correct and R 1s not correct explanation for A

. % A 200030 R 20 Sodr AT 08030 R 0938 A S D0 D068 570

Both A and R are correct and R 1s correct explanation for A

X » A S0B80in R e 8ol ABAD 570 R 938 A § 202 566

Both A and R are wrong

3 X A 06aiL R 20 To&r D057
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A 1s correct but R is wrong
4 % ARDIO D R 0857

Question Number : 76 Question Id : 8135612796 Display Question Number : Yes Is Question

Mandatory : No

Match the following and choose the correct combmation?

Disease

Name of the Pathogen

Type of Disease

a) Chlamydiosis

1) Treponema Pallidum

p) Protozoan disease

b) Hepatitis - B

1) Trichomonas Vagmalis

q) Spirochete bactermim

¢) Trnchomoniasis

ii) Chlamydia Trachomatis

r) Viral disease

d) Syphulis

iv) HBV

s) Bacterial disease

08 TR BAVOW, AT VAFT Vo dos Babod.”

;1'3@

a'5¢ 5°0S0 o)

o cko

1) STRGOIPNIR

) O F8ed

p) SEESD T(®

b) HEt-B

i) EEArTd 2

Q) 5865 ergdosr

¢) BEATALrHD
L~

iii) s'bdodr &8 ardd

) D00 (B

d)

v) HBV

s) erSBaNes T

Options:

, o (a—iii=s), (b—iv—r), (c—ii—p), (d—i—q)

, x (a—iii—p), (b—iv—-r), (e—ii—s), (d—i—q)

3 x {a—ili—¢q), (b—iv—r) (e—l—8§), (d—i—p)

AP EAPCET 2021
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4 » La—R=g), (B=iv—r), (e—il=g), (d=1—8)

Question Number : 77 Question Id : 8135612797 Display Question Number : Yes Is Question

Mandatory : No

Which of the following charterers was not chosen by Mendel?

808 TS Woke B wEE AE), V086 AIrded’ D LLED) HBHE'S ST’

Options:

Position of Pod

seal GBS, DA
1.+ @

Pod colour

, x S°OD Gord

Position of Flower

. i 2Dixy0 CIVE), gva:m

Pod shape

4 % S°0D &5°Co

Question Number : 78 Question Id : 8135612798 Display Question Number : Yes Is Question

Mandatory : No
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When homozygous ‘A’ blood group Man marries homozygous ‘B* group Woman in ‘F,’
generation and ‘AB’ group of springs are born. When these ‘F, " ndividuals marry each other.

m ‘F," generation individuals with how many blood groups are born?

Dy Eand davakore ‘A’ 6536 YA, ok ‘B 6536 HY drir rdd
Ty 8608° 78 D00 ‘AB’ 6$30°0) 500 okrdh. D\ & F,” 6o Sgen
wSBIEE DTro BROSID) oW T’ B6ed" D) 650 GEITL YR 2 FW?

Options :
1. % 1

2. % 2
3. ¢ 3

4.% 4

Question Number : 79 Question Id : 8135612799 Display Question Number : Yes Is Question
Mandatory : No

Select the incorrect statement?
S0 T83e5° HBsR SIS Y

Options:

Male fruit fly is heterogametic

—— ETdDer Dy DodirndE e Bso

In domesticated fowls, sex of progeny depends on the fype of sperm rather than egg

i DO Ty Mo T8 VoB"o dods :Jg'fse; 30550 G%0 Q0A T oo I TP BEFEEIR)
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Human males have one of their sex-chromosome much shorter than other
206578e5° (f0 Tohs Eard anewd’ wet D88 gt T Eot0d

In male grasshoppers. 50% of sperms have no sex chromosome

4 s S0 0GB Aol DT ogsereR’ 50% Hgsrrus” Pohs EArd Den gotY

Question Number : 80 Question Id : 8135612800 Display Question Number : Yes Is Question
Mandatory : No

ELISA

ELISA Sot

Options:
Requires RBC's

. % RBC 033060

Uses compliment mediated cell lysis
| SToD008 AWrOE $ndDSD EDATAFE

Uses radio labeled second antibody
Ly 0GOIr GD80h BroD HAGTeL EHATAY D

Involves addition of substrate which 1s converted into colored end product

o (10 Bod( DWCorT IS DR VGVDTTRA) ST D
4. w = @ @

Physics

Section Id : 81356161
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Section Number: 3
Mandatory or Optional : Mandatory
Number of Questions : 40

Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 81 Question Id : 8135612801 Display Question Number : Yes Is Question
Mandatory : No

Which among the followmg statements 1s not true?
08 7’ 2B 5= DIBT) DBotdot..

Options:
Solar power may be future source of power for cars
J63S e;sb‘qg@é‘ STES) RoB) BOSTLD ST

Development in medicine may mcrease average life expectancy
D[ BorBneS” 287 DI)B DA IS TUD) DoBIE

X-rays were discovered by Roentgen
- X-SO800R TrotiE SR A

Madam curie discovered natural radio activity
D2 6&@“@‘6&5&&) foblatel SJ"SE) SN A

Question Number : 82 Question Id : 8135612802 Display Question Number : Yes Is Question

Mandatory : No
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A student measured the diameter of a small steel ball usmg a screw gauge of least count
0.001 cm. The main scale reading 15 5 mm and zero division of the circular scale coincides
with 25 divisions above the reference level. If the screw gauge has a zero error of 0.004 cm.

the correct diameter of the ball 1s

8 dergd 0.001 em D) Sod DA g aryfed G D) 28 D) D6 Wod AS)
TR SO, & e Bctorh 5 mm oBasn ST )0 e BT
ArdBas 25 dermren 2 Deadocndon) 6. & A iad —0.004 cm © ArE

6) 003, & tod AIVS), BB VORI TR0 Jod?

Options:
1% 0.521 cm

> = 0.525 em

3 ¢ 0.529 em

4 % 0.033 em

Question Number : 83 Question Id : 8135612803 Display Question Number : Yes Is Question
Mandatory : No

The displacement of a particle moving along x-axis is given by x = 8t* + 18t . The average
p p g along : ¥ g

acceleration during the interval t, = 2sandt; =4 s 1s

X — O30 Jot)d ARG &) w8 WY gagoa:m x=8t24+18t.t; =25
20808 t; = 45 G VTR0 BB

Options :

1 % 18 m.s™*

5 % 32 m.s™?
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3 % 20 m.S-z

4 @ 16 m.s™*

Question Number : 84 Question Id : 8135612804 Display Question Number : Yes Is Question
Mandatory : No

A cycle tums around a curve at 25 miles per hour. If he turns at double the speed. the tendency

to overturn 1s

w8 PSR ot 25 2% Sriod 28 S50 ke BAMBT) . 8% 6 0ol
SRdtond, 28 Ve o RozP(d :3)A08.

Options:
Doubled
ﬁeéuiz)

1. 8

Halved

5 x N2

Quadrupled

3 o ey Ot

Unchanged

4w SO

Question Number : 85 Question Id : 8135612805 Display Question Number : Yes Is Question
Mandatory : No
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An mnsect trapped in a circular groove of radius 12 cm moves along the groove steadily and

completes 7 revolutions in 100 seconds. The linear speed of the msect is

8 808N 12 cm TG (10 HTTE M’ i Svser IS ertw 100 DY
7 B0ren P8 Brod. ¢ 05w dg), Sdas 3¢

Options :

1. % 43 em.s !

> BT emET

3. - 4 6.3 C‘TH.S_J'

4 % 7.3 cm.s

Question Number : 86 Question Id : 8135612806 Display Question Number : Yes Is Question

Mandatory : No

A body 1s at rest on the surface of the earth which of the following statements is correct?
Zr D EHBBVAL A 18 SR RO & &) 6. D dod TS DB W6,

Options:
No force 1s acting on the body

w SRADD DEDD0L) LIV DAWAIV

Only weight of the body act on it

— DG DY) WED) AFS HIBE

Net downward force 1s equal to the net upward force

5 503 8 83S5° nedw, DO &G &%e5° erdd HATIAD
.

AP EAPCET 2021
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None of the statement 1s correct.

5§ DTS’ DA DTIAS .

Question Number : 87 Question Id : 8135612807 Display Question Number : Yes Is Question
Mandatory : No

The coefficient of friction ‘" and the angle of friction ‘A’ are related by
2060 easo ‘i’ S8k 168 S0 ‘A’ © 206 Dotodo
Options:

1w fand =pu
5 % CosA = p

3 % sind = pu

4 % cosp=A

Question Number : 88 Question Id : 8135612808 Display Question Number : Yes Is Question
Mandatory : No

If the engine of a train of mass 2.05 X 10° kg requires a duration of 7 minutes for changing

its velocify from 5m.s™* to 25m.s™2. find the power of the engine.

205 X 10° kg 6:3(0°2 $9A% B0 o6k o0 HEAODR LB 308 T S0 7
oo’ 5m.s™! dod 25m. 57" & B0, LonS & w0 AE IR0 Jod?

Options:
; » 146X 10°W
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, % 2.05% 10°W
3 % 5X1073 W

4 % 25%x10° W

Question Number : 89 Question Id : 8135612809 Display Question Number : Yes Is Question
Mandatory : No

When a ball of mass 50 g 1s thrown upwards. it raises to a maximum height of 100 m. At what
height its K.E, will be reduced to 70 % ?

50 g 353 0 009 AT B DB, 0o 100 m o8 D098, O I
98 &) (182 88 70 % TERS Sha?

Options:
1. ¢ 30m

2 % 40m
3 ® 60 m

Question Number : 90 Question Id : 8135612810 Display Question Number : Yes Is Question
Mandatory : No
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In the arrangement shown i the figure. my = 1 kg and
mg =4kg. Assume that the strmg 1s light and

mextensible and the pulley 1s smooth, If the coefficient

7

of friction between block ‘A" and the table 15 0.2. the !

speed of both the blocks when ‘B’ has descended
through a height h=1m is nearly take
(g=10m.s7%)

S m—

i

20308° BrHd 020888° m, = 1 kg 28030 my = 4 kg. & 3Derr Frdobrds dw
R0 TR, 55:) S0 6 8. WY 200D G} *A” © e de LESA 0.2.

B3] ‘B’ 1m g BASYE Tocd) BoL Ve 3¢ AT (g=10m.s7%)
¢ : ~ % — &

Options:

1«4 ms?!

, % 8 m.s*

3 %06 m.s -

4 % 2 m.s™?

Question Number : 91 Question Id : 8135612811 Display Question Number : Yes Is Question

Mandatory : No

A body. imtially at rest. starts rotating with a uniform acceleration and covers 1007 rad m the

first 5 seconds, Its angular speed at the end of 5 seconds 1

P08 Tt B0mad Fomin S 48 Y T et 5 69”1007 rad

Aoy HAIrchodIR. ©od 5 8L D36 T awg), Srab 36 Jod?

Options :

1o 20 rad.s™?

AP EAPCET 2021
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> % 30w rad.s™*

3 x 40m rad.s™*

4 % 10m rad.s™"

Question Number : 92 Question Id : 8135612812 Display Question Number : Yes Is Question
Mandatory : No

A particle 15 moving in a circle and is uniformly gaining speed. Match the following physical

quantities:
Column-I Column-II
; . : " dw
(a) Tangential acceleration (1) =
(b) Radial acceleration (1) Constant
(c) Angular acceleration (1) Variable
(d) Angular momentum 1) lw

5,839 SErHAD) 18 S & DSBS DALB) 6. 308 TGS TRV

2SR50,
3601 5600 11
(1) #yBy0 o g =
il " it
(b) aosa»gcm LR (i) 6w
(c) Erdad Sqdedw (i)  Ardom
(d) Ecbad g i (v) lo
Options:

1% (a—iv),(b—iii),(e—ii),(d—1)
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, ® (a—iii),(b—iv),(c—i),(d—ii)

3.%(a_ii).(b—iii),(c_i)’(d_iv)

4 % (a—i),(b—ii),(c—iv),(d—iii)

Question Number : 93 Question Id : 8135612813 Display Question Number : Yes Is Question
Mandatory : No

The average energy in one period of a simple harmonic motion 1s

ROVEPTS) S BODAN CINE), 28 BDGHANG’ VTHO 38

Options:
1
— mw?a’
1.« 2

> % mwa’
— mw-a

2

2 2
4 ® 2mMw a”

Question Number : 94 Question Id : 8135612814 Display Question Number : Yes Is Question
Mandatory : No
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Three masses 700 g. 500 g and 400 g are suspended at the end of a spring as

F;'
!

E‘IE
]
o

shown. and are 1 equilibrium, When the 700 g mass 1s removed. the system

osctllates with a pertod of 3 seconds. When the 500 g mass 1s also removed. it “":
will oscillate with a period of s
)

700 g. 500 g So8050 400 g GSO"H0R DRSVES” BPOILY w8 N)oh ]
aiog) D6 BerdBonndad oo ud dEHed 63)D. 700 100 gm
G303 SuhiY, 558 3 sec 83D VAN’ &R0 BobHudaR) 2. 300 gm
500 g 3303 &rer SR, & SR EVTIG LA Jod? 400 gm
Options :

. % 18

2‘ v? 2 Y

3 % 38

{12
S
48N>

Question Number : 95 Question Id : 8135612815 Display Question Number : Yes Is Question
Mandatory : No

A wire breaks if stretched by more than [. It 15 now cut ito two equal parts. then each part can be
stretched without breaking by:

| T 677 sy S FABAIWoNS & SNY 08, 7Yyt TAR Bocth) FFTenT™ BN,
20 wrridn 380’ Dot FrGoHADR end dods?

Options:
1 % 1
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Question Number : 96 Question Id : 8135612816 Display Question Number : Yes Is Question
Mandatory : No

The cylindrical tube of a spray pump. having 30 holes each of diameter 1 mm. has a cross-
section of 6 cm?. If the liquid flow inside the tube is 1.2 m per minute. then the speed of

ejection of the liquid through the spray holes 1s

w8 2) Dok AW, AT 0 TR 6 em” ©LES PToEw oak 28)6)8 1 mm
Tiosw $90% 30 Sognwm sBh &) 8. Fbdw &0 @80 AT 1.2 m Sed
DITR08, GolrY Aot LADLLS) D62 BE B0 TS, Sffe

Options:

8

—a
1.% 5

1
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Question Number : 97 Question Id : 8135612817 Display Question Number : Yes Is Question
Mandatory : No

A wind with a speed 40 m.s ™" blows parallel to the roof of a house. Area of the roof is
250 m*. Assuming that the pressure inside the house is atmospheric pressure. the force exerted

by the wind on the roof and direction of the force will be (py, = 1.2kg. m™)

08) P $20y VAFoBGAVT 40 m.s ! 3AS 1 Do, 8y DT 250 m’.
o8} 600 DESA TES0m DETE VATIY G, D Ky s D B8
ROLrAod.a N Bok wudn aws) &3 (pgy=12kg.m™)

Options:

4.8 X 10° N, downwards
;% 48X 10° N, So&8

4.8 x 10° N, upwards

, x #8X10°N, D8

2.4 x 10° N, upwards

5 5
. o 24X 10° N, p&

2.4 X 10° N, downwards
4 % 24X 10° N, 8084

Question Number : 98 Question Id : 8135612818 Display Question Number : Yes Is Question
Mandatory : No

When the temperature of a body 1s increased from 27 °C to 127 °C. the radiation emitted by 1t
mcreases by a factor of

w8 S0 Awg) &l (§d 27 °C Aooc 127 °C 8 Dowd, T Aotk DenSE J8dmo JJ) 08
26HR?
Options:
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256
B

15

38 5

12
4. - 27

Question Number : 99 Question Id : 8135612819 Display Question Number : Yes Is Question

Mandatory : No

A metal rod of length L and cross-sectional area A 1s heated through T °C. What 1s the force

required to prevent the expansion of rod lengthwise?

w8 S 86 T L 0Bt DB \@ progn A. avd &' T °C 2BAde 3¢
570, 8¢ TePS* $8nd TEE) MBS L3RE| LYW
Options:

YAaT

YAaT
2« (1+aT)

(1—aT)

(14+aT)
4 % YAaT
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Question Number : 100 Question Id : 8135612820 Display Question Number : Yes Is Question
Mandatory : No

Assume that you have an 1deal gas for which y = 1.50. mitially at 1.0 atm pressure. When the
gas 1s compressed to half its original volume, then the final pressure. if the compression is

isothermal. 1

1.0 atm HES30 36 GO y = 1.50 63) 2 866, TP EtroE R,
TOPR T s WIHBATETIS RAZVRD ATYAET oG BoBY), B & 808
DA

Options :
1 = 40atm

2 ® 2.8 atm
3 2.0 atm

4 » 6.0atm

Question Number : 101 Question Id : 8135612821 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021 _
collegedunia:s

India’s largest Student Review Platform

el



Match the following?

AP EAPCET 2021

Column-I

Column-II

(a) Isothermal process

(1)  No heat exchange

(b) Adiabatic process

(1) Constant temperafure

(¢) Isochoric process

(1) Constant pressure

(d) Isobaric process

(1v) Constant volume

808 A BH6BE?
3601 5608 11
@) wardde pian () &2 DIWODHIN Gotdd
) 3Be 0 i) efro Hosw

(i) OEHA 06220

(iv) £0R0BATE DO

Options:

1 % (a—iv),(b—ii),(c—1i),(d—iii)

> % (a—iv),(b—i),(c—ii),(d —iii)

3 % (a—ii),(b—iii),(c—iv),(d—1i)

4 o La—i), (1) L e—=m ) (d ~ik)

Question Number : 102 Question Id : 8135612822 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021

[ ]
gcollegedumas
India’s largest Student Review Platform

el



AP EAPCET 2021

An ideal gas heat engine operates in Carnot cycle between 227 °C and 127 °C. It absorbs 6 X 10* cal
at the hugher temperature. the amount of heat converted mto work 15 equal to:

0 tgdwd’ 127 °C ddoto 227°C 005 23603080 i) Ao D BROR) &, ©dS
6268 6 X 10° cal 3¢ o F3K008. HIT Sr6\ES Jod WD G L5007

Options:
1 % 4%10*cal

5 % 3.5X%10* cal
3 % 1.6 X 10 cal

4. 120 104 Cﬂl

Question Number : 103 Question Id : 8135612823 Display Question Number : Yes Is Question
Mandatory : No

A vessel contains two non-reactive gasses Neon (monoatomic) and Oxygen (diatomic). If the ratio

of their partial pressure 1s 3 : 2. then the ratio of number of molecules of neon and oxygen is

08 e cscrg%w G Aoird (D Doares) Sdosw edyad (B] Herms) TohoHw
&R)D. T g 88 e And 3+ 2. LY oy A0S, WG

Options:
3

1.« 2

w |

w | m
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0 | =

Question Number : 104 Question Id : 8135612824 Display Question Number : Yes Is Question
Mandatory : No

when a sound wave 1s reflected from the boundary of a denser medinm. the compression of the

meident wave 1s returned as:

w8 FoBB0 QirS BTG IG 8 B Bt HUGHAN BeBS, H8H Bdorian qws)
RODGID ) SB\WR)IE D)?

Options :
Crest
Byofio

1. *

Trough
, . 8

Compression
3 POEDID

Rarefaction

4 % DOVSCEAW

Question Number : 105 Question Id : 8135612825 Display Question Number : Yes Is Question
Mandatory : No
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An observer looks at a distant tree of height 10 m with a telescope of magmifying power of 20.
To the observer the tree appears :
u.‘bgé &mgﬁ:m 20 59A 28 c&rdcﬁﬂ}aa &00IrR0D), 28 HBTVLE ErdaT &) WS
10m R 63) BLLRL WrFmeh. ©00d, ¢ i HBFVDIS Jur SAeA?
Options:

10 times taller

, » 10 8&0 TeHm

10 times nearer
10 Bt ano
2' W ~ 0

20 times taller
5 20 B30 TaEpm

20 times nearer
20 Tt &0
4. =

Question Number : 106 Question Id : 8135612826 Display Question Number : Yes Is Question
Mandatory : No

A screen 1s placed 50 cm from a single slit which 1s tllumimated with light of wavelength

600 nm. If the distance between the first and third minima 1s the diffraction pattern is 3 mm.
the width of the slit 1s.

D% B8 Aood 50 cm GrO3NE" 28 DO GotraA. B\ 600 nm S0oriBgw o
500 DFS08aN BT, DIGH PO 20cE) LB Hre STV S GO
3 mm eond, O D0y dods?

Options:

1 % 1X 10 *m
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> o 2 X 107*m

3 % 05x 10 *m

—4
4 % 4xXx10 "m

Question Number : 107 Question Id : 8135612827 Display Question Number : Yes Is Question
Mandatory : No

The electric field strength due to a 10 uC point charge. at a distance of 50 ¢m from it is

10 uC Dotk 558200 Aooc. 50 cm Ar6INS” D6 S £ HHS

Options:
1. 36%10° N.C

, % 1.8x10° N.C™!
3 % 72%X10° N.Cc™*
4 % 72%x10* N.CT

Question Number : 108 Question Id : 8135612828 Display Question Number : Yes Is Question
Mandatory : No

Two spheres of unequal radii are supplied with equal quantity of charges. The potential will

WA a»lgavgm:w (i Boct) VP AATS D8RS &3) BT RSWEAD.

SN ﬁ“ﬂg@bé
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Options:
be more on the bigger sphere

DG HEA 877 Q8D &0t
PR @

be more on the smaller sphere.

o)
| 9% Feaw g7 269, Gocd

be equal on both the spheres.
3 % 006 Hvree” DATrdorr Soto

depend on the nature of the material of the spheres.

Awre G, DE"G DDA eI GDC ot
4, % @ -

Question Number : 109 Question Id : 8135612829 Display Question Number : Yes Is Question
Mandatory : No

B4V 5

In the circuit shown below, the current ; 1s I, A | 20

DR08" ErDD HUOHANY” AS DI I; Jend 1A |
i / | SR
[

E=6V 49

Options:

1 % 1L6A

, v 1LBA

3 % 124
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4 % 1L.OA

Question Number : 110 Question Id : 8135612830 Display Question Number : Yes Is Question
Mandatory : No

A charged particle having charge 2C s thrown with velocity 2 i +3 j mside a region having

E = 2] and magnetic field 5. The initial Lorentz force acting on the particle is

E=2j Doy £8:2w, 5 k wahi¥)ob E35w sHAS a8 pd#0 thor 2 6dT)
27 +3 ] dnand D08, & 4538 S0 NS DB §O U8ed OB Jod?

Options:
1. ¢ 384 — 16}

, x 167 +30]

-~ -~

. % 157 48]

30i +16

Question Number : 111 Question Id : 8135612831 Display Question Number : Yes Is Question
Mandatory : No

A 100 turns coil shown in figure carries a current of 2 A in a magnetic field B = 0.2 Wh.m 2.
The torque acting on the coil 1s

A B
DL Brd A 100 ot SHAD w8 & ot h L
N S
2 A 26 0 800, 0.2 Wh.m™ s8R eahax)0d - ﬂ
!
EBA0Y" Gotd WEHEG. 0o & A WD 1 dokw &), P
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Options:
0.32 N.m tending to rotate the side AD out of the page
| » AD 2oy dodw Aot LADLSd 8Dy 0.32 N.m &f),

0.32 N.m tending to rotate the side AD into the page

_ AD 2027 Sodn Dol S°HUH AD 0.32 N.m e8),
) ® i)

0.0032 N.m tending to rotate the side AD out of the page
- AD 202y SOAD Aot LCHLD 8Dy 0.0032 N.m &5,

0.0032 N.m tending to rotate the side AD mto the page
s x AD 30wQ) S0BD Aol SDUD Sy 0.0032 N.m &rE),

Question Number : 112 Question Id : 8135612832 Display Question Number : Yes Is Question
Mandatory : No

What s the current in a straight wire. if a magnetic field of 107 W.mn ™ is produced at a
distance of 2 cm from 1t?

S DRI S Aol 2 em AroAG” 107° W.m™* o) 08 £ DOSDS, 84
&' DEAS DI Jod?

Options :
1. 0.1A

5 % 0.24

3 R 05A4

4 % 044
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Question Number : 113 Question Id : 8135612833 Display Question Number : Yes Is Question
Mandatory : No

Find the equivalent inductance between A
and B in the given circuit,

008 Brod Seahed) A Sdosn B © 4H 4H

: B
S| Bor IS0 Nod? A ‘_Jml_.i‘; : Mﬂ]‘—*—iﬂmﬂ‘—‘

Options:
1.v1H

, % 4H
, % 0.8H

4 » 16 H

Question Number : 114 Question Id : 8135612834 Display Question Number : Yes Is Question
Mandatory : No

Equivalent nductance of two mductors is 2.4 H when connected in parallel and 10 H when

connected in sertes. what 1s the value of inductance of the mndividual mductors?

0ot 05TV Nareddanm s0d T7¢) DD DS 2.4 H dakn 363" 903 10 H.
DEDE DOSL AWE), DOSS DS dodh?

Options:

, x8H & Z2H

, o 6H & 4H
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., x5H & 5H

% 7H & 3H

Question Number : 115 Question Id : 8135612835 Display Question Number : Yes Is Question

Mandatory : No

The figure shows an LCR network connected to a 300 V
AC supply. The circwt elements are such that R = X; =

X¢ = 10 Q. Three voltmeters Vy, V; and V; are connected V, V, A
as shown, Which of the following represents the correct /?\ () O_
e T T

set of readings of the voltmeters’
300V AC 2%5°8 $80% LCR Sooban Heand’ C
. Vi, Vy 0808 Vs e Swahns’ Seodoed, @

300V
R=X,=X; =100 &)ow. $odd
08 SE006 Borben
Options:
- Vi=100V, V, =100V, V=100V

23V1:250V, V=0V , V3=150V

3 x V1 =300V, V,=100V, V3 =100V

4 v Vi=300V, V; =300V, V3=300V

Question Number : 116 Question Id : 8135612836 Display Question Number : Yes Is Question

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

Mandatory : No

The correct relation among the following 1s

808 TS5’ LBALIB DB?

Options:

JHo € -~
Ho €0 —
v Eg

1

Question Number : 117 Question Id : 8135612837 Display Question Number : Yes Is Question
Mandatory : No

A photon of frequency ‘v has a momentum associated with it. If *c’ is the velocity of light

then momentum 1s

:’)’éz‘.‘géj&.ﬁ» Vo Ferd & vdouobosndd B S dods? (‘c’ 98 5708 Do)

Options:
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4.¢ C

Question Number : 118 Question Id : 8135612838 Display Question Number : Yes Is Question
Mandatory : No

A hydrogen atom 1s in an excited state of principal quantum number (n). It emits a photon of

wavelength 4 when 1t returns to the ground state, the value of 'n’ 15

w8 TEAS DOArmY DR ol Doa)| (n) sHA a8 aday 20Y" 6:3)6. b 304
aﬁrg“cmé SEIYYE dbo B4 0 Jerdomy 6ardochad. wond ' aig, s

Options :
AR

. u VAR+1
AR—-1

2.8 N AR

58 JAR-1)
AR

4 o V1

Question Number : 119 Question Id : 8135612839 Display Question Number : Yes Is Question
Mandatory : No

The dominant contribution to current comes from holes 1n case of

& S0 & :mganms‘ Go@aNRV HVD BB DENS DI SLUHA?
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Options:
Metals
e5°s3%ed

1. %

Intrsic semuiconductor

RED2 T ITESW
2. % -

p-type extrinsic semiconductor

P OSQN RV(EIPHOR 0TSO0
3.V e

n-type extrinsic semiconductor

n 0SA VVRFOL V0T TSI
4, % 8

Question Number : 120 Question Id : 8135612840 Display Question Number : Yes Is Question
Mandatory : No

The increase in the height of the tower of height 200 m to get its range tripled is

200 m D30 o) LI ANE), S88 T T 08 ToBerdS w56 aweg) I8

Options:
1. % 800 m

3 » 900m

4 % 700m
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Chemistry
Section Id : 81356162
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response :

Question Number : 121 Question Id : 8135612841 Display Question Number : Yes Is Question
Mandatory : No

What would be the wavelength of the spectral line in Balmer series of the spectrum. having the

longest wavelength? Given Ry = 109677 cm™

306 36 Do $e” wB[BS 860ABg30 iR 02 06 sn? (Ry = 109677 em™ )

Options :
, % 5560 A

5, « 6560 A
3 % 5460 A

4 % 5660 A

Question Number : 122 Question Id : 8135612842 Display Question Number : Yes Is Question
Mandatory : No
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The value of Planck’s constant in electron volts (eV) 1s

Fro§ NO"oEB Jewd VTS FPYue*
Options :
;% 414x107"
-15
> o 214X 10

s % 041%x107%

4 % 6.63x107°*

Question Number : 123 Question Id : 8135612843 Display Question Number : Yes Is Question

Mandatory : No

If it is known that an electron is revolving around the nucleus at a speed of 0.95 km. s, with
an accuracy of 0.02%. then find its position. Given mass of the electron is 9.1 X 107! kg and
h=66%10"kg.m* s

0.02% wD\B08 Sogso tobrr 28 JUS'D 0.95 km.s™ Htfod’ 8PN T
FR) od pB38Ged LosrdabIW)? (U GOEE 9.1 X 107 kg Sobat h =
6.6 X 107* kg.m*.s1)
Options :

, »3.04%x107* m

3 % 304 xX107° m

4 % 304 m
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Question Number : 124 Question Id : 8135612844 Display Question Number : Yes Is Question
Mandatory : No

An element X belongs to 4 period & 15 group of the periodic table. Which one of the
following 1s true regarding order electronic configuration of X. It has

30 DO 28 Qo X, 4 S HOHE B 155 47D & Doy, T )
B JUTR Da“gﬁanmug S0B8°05" DB DAw? TR’ &0t

Options:
Partially filled d-orbitals & completely filled s-orbital
| % L ST oG d-t’ﬁb&?‘i{)o 00030 Prorr Dot S-ﬂﬁa@"'ﬂ(}o

completely filled s-orbital & completely filled p-orbitals

5 i PO Dot 5-e3037%y) 0Bk O™ Doc.d p-e58,er%D),

completely filled s-orbital & half-filled p-orbitals

55 PO Dot s-e587%0;) SO L30T Dodd p-e58E%0,

half-filled d-orbitals & completely filled s-orbital

4 w DS Not.d d-e58,6%0y 20830 YPBMT VoD 5-e58,67¢0,

Question Number : 125 Question Id : 8135612845 Display Question Number : Yes Is Question
Mandatory : No
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The formation of an oxide ion from Oxygen atom takes place as shown below. This two-step

process is unfavourable, even though 0° is iso-electronic with Neon. due to the fact that
" " . 6. . an ok

0 +e — 0y ; AH/ =+780kl.mol™

—————————

8\ 1S DOAFY Ao, 8FE WOIrS & Sobd Do 6O’

Ogt+e — 04 ; AH; =—-141kI.mol™
0te — 0 AH, =+780 kl.mol™
e 6D 077 walrd ‘DY Lo, D Toc LoBY oD GO

TR0 95700 VAEPVo T, JoIVN VAT

Options:
Addition of electron in oxygen results in larger size of the 1on.

TLIER DOATENDS” VSO PO 2)635‘.) 05 D8R0 (Par) DM
1. % =

Electron repulsion out-weighs the stability gained by achieving noble gas configuration.
GO)HR Tk 3)::"5:%:: SOR STy ::oésn Sotd, DUS"AL .-:qu D808 Derdo .)s:z’.'..‘m‘
) @ ) Q

o &oG, Dsgm Egda“s.bl 900t

Oxygen is more electro negative.

s e.eé;)aa.ssa D8, 2008 Dc&:swaésa &) O

O 1on has comparatively smaller size than oxygen atom.

4% 0 ©oirs, 8820 DOIATEDYY) Sofd B8 D DBITee $OH Socdod

Question Number : 126 Question Id : 8135612846 Display Question Number : Yes Is Question
Mandatory : No

The correct order of decreasing first ionization 1s

DED VDA FDV BHGL AILE), DTS SAH0
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Options :
1 « C>B>Be>Li

> & C>Be>B>Li

4‘wBe>Li:--B:>C

Question Number : 127 Question Id : 8135612847 Display Question Number : Yes Is Question
Mandatory : No

In the given electron dot structure, the formal charge on each

nitrogen atom (respectively) from left to right 1s N N ll'\i*
L J

D008 B QUE'S Dot Aoy 208’ AN Aow) Y oo

i D 2 DOATFTYLP F'66 BIT SOT

Options:
1 % +1, 0, +1

5 o il Ty — K

3,% 0, _1, 0

Question Number : 128 Question Id : 8135612848 Display Question Number : Yes Is Question
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Arrange the following 1ons 1n the correct order of X — 0 bond order. where ‘X" denotes the

central atom.

X' 8o DEArmRDR AP, S0 A YTV T X — 0 wodgArw WYY S0

E:J.‘deJ‘).‘b.D.
Options:

1

, o S0 < PO; < SO,
, « ClO; < S0;” < PO,
. i clo, < PO, < S0,

. Si0;” < 50, < PO;

AP EAPCET 2021

< Clo,

< Clo,

Question Number : 129 Question Id : 8135612849 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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Match the following molecule with the hybridization of the central atom and 1ts corresponding

shape?
Molecule Hybridization Geometry
(a) BCl 1) sp? (p) distorted octahedron
(b) BrCl; (i) sp? (q) Pyramidal
(c) NH; (i) spid (r) Trigonal Planar
(d) XeF, (iv) sp*d® (s) T-shaped

Sot8 FUND VEVPVR T ol DOATEVYY AS), VoSESGM0 2OA ) AW,

5,008 2EB0VAN?
VI LT &0
(a) BCly i) sp? (p) Ddroseso Bodd LHSWDaL
(b) BrCl, (1i) sp?- (q) ‘Mﬁs'du
(¢) NH, (ii1) spd (1) e G5B
(d) XeF; (iv) spid? (s) T-vu8)d
Options :

, x (a—iii—r), (b—ii—p), (c—i—q), (d—iv—s)
, ¢ Ca—i=r); (b—iii—38), (e—i—q) (d—=iv—p)
3 u (a—iv—8), (b—i—r), (e=ii—p), (d—iii—q)

4 » Ca—=i=p), (b=iw=3s), (c—ti~q), (d=fii—r)

Question Number : 130 Question Id : 8135612850 Display Question Number : Yes Is Question
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Given the critical temperature and critical pressure of €0, gas are 30 °C and 72 atm

respectively. find the approximate values of Van der Waals constants ‘a’ (in L*, atm.mol™%)
and *b’ (in L.mol™?).

C0, s i), Robf & 0Bakn ol DEAAN Devden SR 30 °C Sdako
72 atm ©ond Trotd TS ?gvo?gé ‘a’ (L% atm.mol™%) &08asw ‘b’ (i L.mol™)
L0 SERMT

Options:
, x @=036 & b=0.0821

, x @=36 & b=0.043

;v @=36 & b=0.043

, » @=036 & b=0.043

Question Number : 131 Question Id : 8135612851 Display Question Number : Yes Is Question
Mandatory : No

At constant temperature, when a bulb ‘A’ of volume 150 mL containing an ideal gas was
connected to another evacuated bulb *B. the pressure fell down by 40% of bulb A's mnitial

pressure, Then, find the volume of bulb B.
f&})d egqa 96 W A0 T I 963. 150 mL 08H8arsm0 (v SN oY

6&'53&:1& 208 we) ‘B* § gendrr ¢ aﬁag 03).}52’ 0 woe) ‘A mSZ, &9 5o got
40% és%bn' aa’:lé. 00N, &) ‘B’ aws), WS t0

Options :

5 % 150 ml
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3 100 ml

4 125 ml

Question Number : 132 Question Id : 8135612852 Display Question Number : Yes Is Question
Mandatory : No

Calculate the mole fraction of CH;0H m 5 molal aqueous solution of CH;0H.

5 rerd) CH,0H 20 orondw ¢ CH;0H a5 artan

Options:
1 o 0.082

3 % 0.16

4. % 0.5

Question Number : 133 Question Id : 8135612853 Display Question Number : Yes Is Question
Mandatory : No

6.0 litres of a gaseous mixture containing propane and butane on complete combustion at 25 °C

produced 20 litres of C0,. Then the composition of the given mixture 1s

25°C 20 6.0 E}bg R Bosw m&éﬁﬁ TV L 28 Trod Daﬁar:)l Qo
B0 BoBotdt 20 bmg 0, DSEID. L, 88 Tk DFe VodbiNo

Options:
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Propane-5L & Butane-1L
; ToI-5L & e0(e55- 1 L

Propane-1L & Butane-51L

C IHS-1L & eaxSS-5L
2 % »

Propane-4 L & Butane-2L
3 TOD-4L & enBd-2L

Propane-2 L & DButane-41L

5 o goo-2L & (- 4 L

Question Number : 134 Question Id : 8135612854 Display Question Number : Yes Is Question

Mandatory : No

When a gas 1s allowed to expand m a well-insulated container. against a constant external

pressure of 5 atm, from an initial value of 10 L to a final volume of 15 L. find the change in

the internal energy (AU) of the gas.

06RO Rot) QPO HBGZotscd Frdozs DBATHAL 10 L FIS'WN) w8
TP, 5 atm D6 ey DERANHL S[BBSoT 0B AVBATH0 15 L Stidy S6&
T(EDodSTE. & DI’ & ToWY Wodds 386 Arddy AU e

Options:
| @ —25k]

> % —25 k)
3 % +15 k]

4 % —10kJ
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Question Number : 135 Question Id : 8135612855 Display Question Number : Yes Is Question
Mandatory : No

A solution is prepared by dissolving 2 g of NaOH in one litre water. Find the pH of this
solution. assuming complete ionization. [K,, for water = 1 X 107 ]

28 Dudy D’ 2 g © NaOH Q $8fow) 28 Tramrd) Soird S, & mreo Jrom
0G0 BoBot Dol & pH Atdoraw. [K, = 1 x 107 ]

Options :
. % 113010

, » 12,6021
5 12.6990

4 % 10.3010

Question Number : 136 Question Id : 8135612856 Display Question Number : Yes Is Question

Mandatory : No

For the reaction
Hy(g) + COyq) = CO(g) + Hy 0y, 1f the nitial concentration of [H,] = [C0,] and x moles/

L of H, 15 consumed at equilibrium. the correct expression of Kjp 1s

Hy(g) + COyg) = CO(g) + Hy 05, 36(8" 3608 68 [Hy] = [CO,] 20Basn e Ega
36 x /L DIavndand, Kp & ddabiiaty 2% Do

Options :

xz

(1—x)?

(% 4
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Question Number : 137 Question Id : 8135612857 Display Question Number : Yes Is Question

Mandatory : No

Which among the following pairs of substrates on reaction. does not evolve hydrogen gas.

Bridd QBWED D B6[E" Soiradssn TE RS TOVP DEGY BaHTE?

Options:
dil. HNO3
Mg » products
~xe HNO3
- Mg AT AL
H0 ()
Fe . products
5 % e » &GO\T\eD
Fe » products
H2504 (=e)
2 % Fe P GONTT) W
dil. HCI
Cu > products
Do HC
i Cu ¥ GO\TT) D
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Question Number : 138 Question Id : 8135612858 Display Question Number : Yes Is Question
Mandatory : No

Beryllium fluoride can be prepared from the decomposition of

DTS S0 B6daH J'BE D doirdrdabiusw

Options:
1 ¢ (NH4)ZBE«'F4

> % (NH4)4B€F4

3 % (NHg)ZBE-'Fz

Question Number : 139 Question Id : 8135612859 Display Question Number : Yes Is Question
Mandatory : No

The type of hybridization of Boron in diborane is

G TS’ B0 aIng), VosdEsEtw

Options :
1. % SP

2 ® sp*

3
3. ¥
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Question Number : 140 Question Id : 8135612860 Display Question Number : Yes Is Question
Mandatory : No

The hybnidizations of *C" and ‘0" in CO and CO, respectively are:
CO, CO, 0&" “C” 0803w ‘07 alng), RosdSERte SERM™

Options:

1. % CO: C=sp O=5p & €Oy C:sz 0=sp2

, x CO: C=sp 0=sp® & CO,: C=sp O=sp?

30 C0: C=sp O=sp & CO,: C=sp 0 = sp?

4 x CO: C=sp® O0=sp® & CO,: C=5sp O=sp

Question Number : 141 Question Id : 8135612861 Display Question Number : Yes Is Question
Mandatory : No

Which among the following acts as a sink for CO?

CO 2 NS HABDA BHD AFrDot)d J°8e5° D&?

Options:
Oceans

| % PdVTW

Rivers and Lakes

5 RV DBA BAYLD
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Tree Barks
L x DY 86

Micro-organisms in soil

ﬁ -
i S0 fe AT E) BaHe

Question Number : 142 Question Id : 8135612862 Display Question Number : Yes Is Question
Mandatory : No

Which of the following has a chiral *C" ?

308 :aéay;':rvé‘ TorS-C' S0d AB?

Options:
1 % CH,I — CH;I
> % CH;CH,CI

2 u (CH3);CFCl

4 o CHCH(CD(D)

Question Number : 143 Question Id : 8135612863 Display Question Number : Yes Is Question
Mandatory : No

The blood red color of sulfur containing organic compound of Lassaigne’s extract is due to the

formation of

D06 SDAR 56,9 o) YRS aI0E) TS Srain dIe), HOLY' 65 WY Godsy
56 NN

Options :

AP EAPCET 2021 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAPCET 2021

[Fe(cN) NOS]™

1. %

5 % PbS
, o [Fe(SCN)J**

4 % Naz$

Question Number : 144 Question Id : 8135612864 Display Question Number : Yes Is Question
Mandatory : No

If the radit of Na™ and CI™ ions are 95 pm and 181 pm respectively. then the edge length of a

NaCl unit cell 1s

Na* So8osw (1™ easrd S{RrTeen S 95 pm 0Bako 181 pm. NaCl o 26
a3E), Vol T

Options :
1 % 276 pm
5 % 135 pm

3 @ 292 pm

4 % 415 pm

Question Number : 145 Question Id : 8135612865 Display Question Number : Yes Is Question
Mandatory : No
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Ifa 6.5 M solution of KOH in water contains 30 % by mass of KOH. then find the density of

given solution. (Atomic masses: K =+ 39.0 = 16.H - 1)

S 6.5 M 0@, wrovd) o 30 % KOH & A GR) QOWS. & Trato ) Fodd
(eog20 gogorsoen: K —39.0 - 16.H = 1)

Options :
, x 286 g.ml™?

, % 352 g.ml™

2 o 121 g.ml™?!

4 % 245 g.ml™!

Question Number : 146 Question Id : 8135612866 Display Question Number : Yes Is Question
Mandatory : No

At 104.2 °C. the vapour pressure of a solution of 7.5 g of a solute 1n 100 g of water 1s 740 mm of
Hg and K, = 0.55, then the boilng point of the solution 1s

104.2°C 36 100 g © 6" 75 g 0 28 o) 90D SairdBHd Tdmo QWS Ty oo
740 mm Hg 0w, 208030 & Kj = 0.55 ©ond, & &rdeo alog), 6 eg“ga

Options:
, » 37380 K

, % 100.54 K
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s % 27345 K

Question Number : 147 Question Id : 8135612867 Display Question Number : Yes Is Question
Mandatory : No

The standard e.m.f of a Daniel cell is 1.15 V. Given F = 96500 C.mol™". find the value of
AG for the following cell reaction. Zn , + Cu’t .. — In®* +Cu
5) (ag) (aq) (s)

G.R00Y 0o CEJJSEJ e emf 115V, F = 96500 C. mol ™ e0nd S0 Db t:&dss‘o AG
L 24 2+
Q0 dodh? Zn[m] + Cu ey " n (i) - Cu.{m]

Options :
« +221.95 J.mol™*

, % —110.45 JL.mol™?

ios ) =
i 221.95 kJ.mol

4 % 12219 kl.mol™

Question Number : 148 Question Id : 8135612868 Display Question Number : Yes Is Question
Mandatory : No

The potential of a hydrogen electrode which 1s immersed in a solution of pH = 815

approximately

pH = 8 0 £rdndnd” 2000 629 JOEE dng TS (Sewws’)____

Options:
1. & —0.472
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. —0.0591
. % —0.591
4.% 0

Question Number : 149 Question Id : 8135612869 Display Question Number : Yes Is Question
Mandatory : No

Which expression among the following 1s correct for a zero-order reaction and a first order

reaction respectively? Here ‘a’ denotes the mitial concentration of reactant.

80" S:30r08 SBakw DE Sros BE[LE) dotoldow) Sot ;55§§6uﬂ\é TS B ATNE?

(a 0oz med)
Options :
1
t xXa:it O
1% 1/2 1/2 a
, 0
5 \ytuzcca : tuzo(a
0
2 % tuz‘xa tUZDCﬂ
1
t - ol R e —
4 % 1/2 1/2 a2

Question Number : 150 Question Id : 8135612870 Display Question Number : Yes Is Question
Mandatory : No
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In Freundlich adsorption isotherm the value of = 1S

1
Foolk A dFT O 'b&r@émﬁ“ ,— Dend
n

Options:

2<—=<4
1. % n

1
? = 1 for physical absorption

1
oy 1 &3S 9AF DLV DL
2.8 &

— = 1 for chemisorption
n

1
— = 1 6J°0DIE 9T DL2AVID

Question Number : 151 Question Id : 8135612871 Display Question Number : Yes Is Question
Mandatory : No

Which molecule among the following has the highest dipole moment?
S0B ATV LEVHLS” ADS OS[BS BIE)D PrSo &) &7

Options:
, w BiH;
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. PH;

4. NH;

Question Number : 152 Question Id : 8135612872 Display Question Number : Yes Is Question
Mandatory : No

Arrange the oxides of group-15 elements in decreasing order of their acidity:
(D 15 20reusew 636 O SDSE0 37 S030S" 9060IW

Options :
1 % P05 > N,05 > As,05 > Sb,05 > Bi, 05

5 % Bi,05; > Sby,05 > As,05 > P,05 > N,05

5 o N205 > P,05 > As;05 > Sh,05 > Bi, 05
4 % N205 > BizOs > PZOS - A3205 > szos

Question Number : 153 Question Id : 8135612873 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

S0 TR BSWOINAD?
Oxidation state of Xe
Reaction in product
&30 G0y 2w &' Xe
Bé)gﬁﬂ T
@
(a) XeF;+3H,0 — (1) +6
warm
(b) XeF, + (excess) Xe ——— (1) 0
(c) XeF; +8NH; — (1) +2

Options:
;% (a—iii), (b—1i),(e—ii)

, x (a—i),(b—ii),(c—iii)
, o (a—i),(b—iii),(e—ii)

4w (a—iii),(b—ii),(c—i)

Question Number : 154 Question Id : 8135612874 Display Question Number : Yes Is Question

Mandatory : No

The most stable complex among the following is

Sod Vo "-o;‘:né#:rué‘ eB(0d ?&))d@a&

Options:
. w [Fe(H0)]*"
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.« [Fe(NHz)s*
3 [Fe(C,0,)5]°"

4. ® [FE(CDG]:;#

Question Number : 155 Question Id : 8135612875 Display Question Number : Yes Is Question
Mandatory : No

The electronic configuration of a transition element X in +3 state is [Ar]3d°®. Its atomic
number 15

——

+3 88,960 ’.g@eﬁ‘ (10 8 HOSGD ArwsAD JVFD TR [Ar]3d°. ¢ urosiw
aI8), DOATER Do)

Options:
1. % 26

2. % 24
3 & 27

4 % 28

Question Number : 156 Question Id : 8135612876 Display Question Number : Yes Is Question
Mandatory : No

Reacting glucose with HI with prolonged heating gives

(88 0 HI & S J6y.S 2B D& BRI DGR
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1- Hexanol

1- 3789

2- Hexanol
 2-6\0

1, 3- Hexanediol

3 X 1,3- 2J°§_)5 Ga3re

n- Hexane

i n- 'f'.'3°§35

Question Number : 157 Question Id : 8135612877 Display Question Number : Yes Is Question

Mandatory : No

The major product (R) of the following reaction sequence 1s

& BMD Do E02085° HEED &S0y 0 R

20 BRI
Pl . KCN  Hydrolysis |
C:IHI[}U > (P) > (Q) + > (R)
(linear alcohol) Hz 0", A
(T o0 W) T°O)
Options:
CO-H

|
. % CH;CH,CHCH,
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H;C
CH_CH2C02H
3 R H3C

o » CH3CH,CH,CH,CO,H

Question Number : 158 Question Id : 8135612878 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction.

& S0 ::5656‘ 3536 &@Dé‘lﬂr &?

0O ~He
O (1) CH-MgBr .
Hy,C—CH;  iyn,0

Options:

, » CHy—CH,—CH,—CH,—OH

0
P R

3 ® Hzc_CH'— CEHE

/O\ © ©

4 % H,C—CH—CH, MgBr
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Question Number : 159 Question Id : 8135612879 Display Question Number : Yes Is Question

Mandatory : No
The molecular formula of the final product of the following reaction sequence 1s

BS Bo7j DTV SANE" DY 0B Gy A

i) KMnO,, KOH, A

CH,4 ii) H,0*
> 7

lii) LiAlH,

iv) H,0
Options:
. % C;HgO
3, % CgHy00
4 % CgHgO

Question Number : 160 Question Id : 8135612880 Display Question Number : Yes Is Question
Mandatory : No
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Chloral having molecular formula C,Cl;0H gives red precipitate with Fehling's reagent.
Chloral on reacting with cone. NaOH form sodium trichloro acetate and another compound X

chloral on reacting with chlorobenzene in the presence of conc. H;50, to form compound Y.
The structure [UPAC names of X and Y will be

o A or CCLO0H T o §o8 ool Erondwd ddxborh BSZ15WR R0\.
S0 e NaOH & e56(5" Fdiatbo HEE D6 0808w X 6 w6 ) ¥y

D6\ BSOR, e H, S0, 008" §6 HS &, E075 056§ Jold, Y 298 0y w000
R0\, X odaiw Y o [UPAC Traren SOI™

Options:

2,2, 2 — trichloro methyl propanol and P , P* — dichloro diphenyl trichloro methane
. 22,2— 958 2ogs Fomrd sdosw P, P! - g8 g e © 6 39

Methanol and 4 — chloro benzaldehyde
DGSS 20basw 4 — §F Bordirs

2. %
2,2, 2 — trichloro ethanol and P , P* — dichloro - dipheny! trichloro ethane
2,2,2 - 0 §6 9056 20dosw P, P! — 288 — gpe © § &8
3.v
1,1,1 — trichloro methanol and P , P* — dichloro diphenyl trichloro ethane
1,1,1— 90 5§6 QeSS Hdcsw P, P! — 288 — 2 D6 8 §8 &dS
4 =
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